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5 H HOE O OK O# E B T BB E
PR3 — —
EERE —

Bl K — —
ﬁé%*?ﬁ? — —

JHI JIDBES — —

oAl @5 — —
SR — —

R ST — —
o — —

H B — —
HA — —
L8 — —
BRI A 0.01 mg/0LLTF 0.001 mg/0
2T BHI W & 0.1 mg/0
& 0.01 mg/0LLTF 0. 005 mg/0
ANz o A 0.05 mg/QLLF 0.02 mg/ 0
[ ES 0.01 mg/0LLTF 0. 005 mg/ 0
FAOK R 0.0005 mg/0LL T 0.0005 mg/0

fie PCB MRS nZnwz & 0.0005 mg/0
o AR 0.02 mg/0LLTF 0. 002 mg/0
L RAES 0.002 mg/0LLTF 0.0002 mg/0
L,2-Y/uauaxH 0.004 mg/QLLF 0.0004 mg/0

I3 [ I->ZuuxHL o 0.02 mg/0LLTF 0. 002 mg/0
VA-L,2-V/uuxF L 0.04 mg/0LLF 0. 004 mg/ 0
LLl-F) 7ok 1 mg/OULTF 0.0005 mg/0
,1,2-hNVZ oo 0.006 mg/0LLF 0.0006 mg/0
Ky ZopxTFL 0.03 mg/0LLTF 0. 002 mg/0

H FrS 7 nuTFL o 0.01 mg/0LLF 0.0005 mg/0
,3-Y/7noun 7o~y 0.002 mg/0LLTF 0.0002 mg/0
F 7T L 0.006 mg/0LLTF 0.0006 mg/0
v 0.003 mg/0LLTF 0.0003 mg/0

H FFXLHNT 0.02 mg/0LLTF 0. 002 mg/0
~L P 0.01 mg/0VLTF 0.001 mg/0
1L 0.01 mg/O0LLF 0.002 mg/0
HfEIEE R Az . 0.05 mg/0
R ER Far10 me/0LLT 0.05 ng/0
5o 0.8 mg/0LLTF 0. 08 mg/ 0
ESES 1 mg/QULT 0.02 mg/ 0
KFEA A RE (pH) 6. 501 8. 5L F —

Z MRS ek & (BOD) 2 mg/0LLTF 0.1 mg/0

T b rriE R k& (COD) — 0.1 mg/0

- FrlE e R (SS) 25 mg/0LL T 1 mg/0

B A SO0 7.5 mg/00) | 0.1 ng/0

15 PN R, 1000 MPN/100m0LL T —

- n— ¥ HHYE — 0.5 mg/Q

= LER — 0. 05 mg/0

H XY — 0.003 mg/0
L igh 0.03 mg/0LLF 0. 001 mg/ 0
7 = ) — )V * 0.5 mg/OLLT 0. 005 mg/ 0

K i ¥ 0.3 mg/0LLTF 0.01 mg/0

B TR iR TESE * 1.0 mg/OLLTF 0.02 mg/ 0

TH AR~ T * 1.0 mg/0LLF 0.01 mg/0

H VAP ¥ 0.2 mg/0LLTF 0.02 mg/0
=L — 0. 008 mg/0
TR TSR — 0. 04 mg/ 0

% DABEREY A — 0. 005 mg/ 0

D BERnE R — —

fth Bk A A — 2 mg/ 0
A A W miE Al — 0.03 mg/Q

X Tx ) (PHERERE (BEMH) 2RKT
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OMIIIKERET—RIZTOVWTHOEEEE
KR TERIBUKE) Tt TR 13, WRRICERAET 220355
RO TCEE x TR AL D Sl 1 Tl By AR
- RPO TR Six, ERTIRERECHDLZEE2 0D
c BHE OB REIT., FIRFEETIAE TIZ100 4H DH30) | HNEIFEE TS0 TH S
- RIBGWEBEEOTEEER R L 35, BlAE, JERED 11000) Tholedhild, RHOFR
1T T1.0E+3) &72% (1.0X10°%2 %)

OT—FRITHBEL TLEWERE
HRFEARBAAE O P CEPNAWIE L T D28, —ERIITHEIR L i,

FHAIEH : EPN (CReZRIEH . fIEHEE0. 006mg/0)
FRELHT - HE)I (A EAE)

TREAERE - A2m], 8A L2H oEnENYEl (1086 OFFE) ICHIE
TAEFER - 8H « 2H & H120. 0006mg/ 04
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- AN ERERFET —4

FHAE)I (RRF04E) HEH - FR204F4H 16 H -3(2)-1
HIEE B 10:00 16:00 22:00 14:00
PR 5 = = =
mi A K (BKE) (mm) 0.0 — — —
KT (m) 1.270 1. 270 1. 280 1. 320
BRI (m) 0. 254 0. 254 0. 256 0. 264
PR (m/F)) 0. 59 0.58 0. 64 0. 60
i (m/Fb) 32.35 32. 84 36. 80 36. 42
SR (C) 18.7 20. 2 16. 5 13.5
JKIE. (C) 13.0 15.2 12.5 11.3
=N B 5 W R B2 WK B 5 W R Mo
B (%) > 30 > 30 > 30 > 30
B3 R 5 R R
pisc) HHa L ML HHa L ML
B R T A (mg/0) | < 0.001 - - -
BTV (mg/0) Ak H - - -
i) (mg/0) | < 0.005 - - -
AN A=A (mg/0) | < 0.02 — - -
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) — — — —
A-1,2-V7uvoxF Ly (mg/l) - - - -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
L1,2-h)ZupxX (mg/0) - — — -
PAEREES 4 (mg/0) | < 0.002 - < 0.002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — < 0.0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D% (mg/0) - - - -
FFA X IVT (mg/0) - -
NP (mg/0) — - - -
1 (mg/0) - - - -
HRIEER (mg/0) 1.2 — - —
et E R (mg/0) | < 0.05 - -
HERMEE R L O RREERE  (ng/0) 1.2 — - -
503K (mg/0) | < 0.08 - = —
ESES (mg/0) | < 0.02 - - -
IKEA A BE 7.8 7.8 7.8 7.7
UL B R (mg/0) 0.7 1.0 1.5 1.4
(PR EERE (mg/0) 2.0 2.3 2.2 2.3
Y R (mg/0) 7 7 6 7
BT RE (mg/0) 11.2 11.0 10.7 11. 1
KIBHE R (MPN/100m@) 1. 3E+02 —
n—~NHU Y E & A & (mg/0) - - - -
BEFR (mg/0) 1.4 - 1.4 —
EUNY (mg/0) 0.061 - 0. 063 -
A (mg/0) 0. 002 — — -
7= ) —)VHH (mg/0) | < 0.005 — - -
&l (mg/0) [ < 0.01 — — —
VAl e gk (mg/0) 0.16 - -
e~ o v (mg/0) | < 0.01 - - *
AN (mg/0) - - - -
=y v (mg/0) - - — —
T UE=THER (mg/0) 0.04 - - -
D ABRREY A (mg/0) 0. 052 - - —
ERREE (mS/m) 13 13 13 13
Bt A (mg/0) 4 - 4 -
feA A v A mmiE Al (mg/0) | < 0.03 - — -

EEHm3-12




FHAE)I (RRF04E) HIEH - FR204E5H 28 H -3(2)-2
HIEE B 10:00 16:00 22:00 14:00
PR g = = Y
mi A K (BEKE) (mm) 0.0 — — —
KT (m) 1. 280 1. 360 1. 360 R
BRI (m) 0. 256 0.272 0.272 0. 250
JiREs (m/F)) 0.75 0.70 0.73 R
A (m’/Th) 42.31 42. 83 41.91 R
SR (C) 25. 8 23.3 20. 3 16. 1
JKIE. (C) 17.6 17.3 16. 6 15. 1
=N BH 2 VWK £ B2 WK A BH 2 VWK £ PN
B (%) 85 75 383 55
B3 w5 5 R R
pisc) HHa L ML el Y, miiEmd v
B R T A (mg/0) | < 0.001 - - -
2TV (mg/0) A - - —
i) (mg/0) | < 0.005 - - -
Nz o A (mg/0) | < 0.02 - — -
L% (mg/0) | < 0.005 — - -
KK ER (mg/0) | < 0.0005 - - -
PCB (mg/0) — — - —
DA =P 4 (mg/0) - - — -
ERIArES (mg/0) | < 0.0002 - - -
,2-UZuaux X (mg/0) - - - -
LI-CZooxFL (mg/0) - - - -
A-1,2-V7uvoxF Ly (mg/l) - - - -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
,1,2- U Zoox kX (mg/0) - - - -
PAEREES 4 (mg/0) | < 0.002 — 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D4 (mg/0) — - - -
FA X HNT (mg/0) - -
NP (mg/0) — - - -
L (mg/0) - - - -
HRIEER (mg/0) 0.98 — - —
et E R (mg/0) | < 0.05 - -
IR O EMERIEESE (ng/0) 1.0 — - —
>0 (mg/0) - - - —
ERES (mg/0) - - - —
IKEA A BE 8. 8.1 7.7 7.6
UL B R (mg/0) 1.1 1.5 1.4 2.0
(PR EERE (mg/0) 2. 2.2 2.2 3.4
Y R (mg/0) 4 3 4 8
BT RE (mg/0) 10. 6 10. 8 9.4 9.4
KGR (MPN/100m0) 4. 6E+02 — -
MV E 5 = (mg/0) - - - —
BEFR (mg/0) 1.1 - 1.3 —
EUNY (mg/0) 0. 044 - 0. 044 -
A (mg/0) 0. 002 — — —
7 x /) — )V (mg/0) - - - —
il (mg/0) - - - —
VAl e gk (mg/0) - - —
iRt~ o (mg/0) - - - -
7 v (mg/0) - - - -
=y (mg/0) - - - -
TR T EEE (mg/0) | < 0.04 - — -
D ARIED A (mg/0) 0.023 — — —
ERREE (mS/m) 13 13 13 12
Bt A (mg/0) 3 - 3 -
feA A v A mmiE Al (mg/0) - - - —
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FHAE)I (RRF04E) HEH - FR204F6 H 11 H -3(2)-3
HIEE B 10:00 16:00 22:00 14:00
PR = = = Y
mi A K (BEKE) (mm) 0.0 — — —
KT (m) 1. 450 1. 390 1. 390 1. 460
BRI (m) 0. 290 0.278 0.278 0. 292
PR (m/F)) 0.76 0.70 0.73 0.82
i (m/Fb) 48.77 44, 69 47.55 55. 63
SR (C) 24.7 25.0 20. 2 19.5
JKIE. (C) 17.0 19.0 17.5 16. 7
=N (0% B Mo 0% B (4575 B
B (J) > 100 > 100 > 100 100
B3 R 5 w5 R
S8l HHa L ML HHa L ML
B R T A (mg/0) | < 0.001 - - -
2TV (mg/0) AR H - - —
i) (mg/0) | < 0.005 - - -
Nz o A (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) — — — —
CA-1,2-VZ/aaxF Ly (ng/0) — — — -
LLI-RVZuouxH (mg/0) [ < 0.0005 — - -
L1,2-h)ZupxX (mg/0) - — — -
PAEREES 4 (mg/0) | < 0.002 - < 0.002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — < 0.0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D% (mg/0) - - - -
FA X HNT (mg/0) - -
NP (mg/0) — - - -
L (mg/0) - - - -
HRIEER (mg/0) 1.0 — - —
et E R (mg/0) | < 0.05 - -
HERMEE R L O RREERE  (ng/0) 1.0 — - -
503K (mg/0) | < 0.08 - = —
ESES (mg/0) | < 0.02 - - -
IKEA A BE 8.0 8.4 7.7 7.6
UL B R (mg/0) 1.1 1.0 0.8 1.3
(PR EERE (mg/0) 1.8 1.8 1.5 2.4
Y R (mg/0) 4 3 2 4
BT RE (mg/0) 10.3 10. 7 9.2 9
KGR (MPN/100m0) 1. 3E+03 — - -
n—~NHU Y E & A & (mg/0) - - - -
BEFR (mg/0) 1.1 - 1.1 —
EUNY (mg/0) 0. 042 - 0. 053 -
A (mg/0) 0. 004 — — -
7= ) —)VHH (mg/0) | < 0.005 — - -
&l (mg/0) [ < 0.01 — — —
VAl e gk (mg/0) 0.02 - -
e~ o v (mg/0) | < 0.01 - - *
w7 a (mg/0) - — — -
=y (mg/0) - - - -
TR =T RER (mg/0) | < 0.04 - - —
D ARIED A (mg/0) 0. 036 — — -
ERREE (mS/m) 13 13 13 15
Bt A (mg/0) 3 - 3 -
feA A v A mmiE Al (mg/0) | < 0.03 - — -
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FHAE)I (RRF04E) HEH . 20T H2H #*-3(2)-4
HIEE B 10:00 16:00 22:00 14:00
BN i i I3 %
mi A K (BEKE) (mm) 0.0 — — —
KT (m) 1. 440 1. 430 1. 400 1. 390
BRI (m) 0. 288 0. 286 0. 280 0.278
PR (m/F)) 0.73 0.67 0.70 0. 60
i (m/Fb) 49.78 46. 58 19. 15 37.77
SR (C) 29. 9 26. 2 22.7 18. 8
JKIE. (C) 21. 4 22.0 20. 2 17.9
=N 0% B Mo 0% B Mo
B (J) > 100 > 100 100 > 100
B3 w5 5 R R
pisc) HHa L ML HH L ML
B R T A (mg/0) | < 0.001 - - -
2TV (mg/0) A - - —
i) (mg/0) | < 0.005 - - -
Nz o A (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
DA =P 4 (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) — — — —
A-1,2-V7uvoxF Ly (mg/l) - - - -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
L1,2-h)ZupxX (mg/0) - — — -
PAEREES 4 (mg/0) | < 0.002 - 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D% (mg/0) - - - -
FFA X IVT (mg/0) - -
NP (mg/0) — - - -
1 (mg/0) - - - -
HRIEER (mg/0) 1.0 — - —
et E R (mg/0) | < 0.05 - -
HERMEE R L O RREERE  (ng/0) 1.0 — - -
>0 (mg/0) - - - —
ESES (mg/0) - - - —
IKEA A BE 8.0 8.3 7.7 7.6
UL B R (mg/0) 0.7 0.8 0.6 0.7
(PR EERE (mg/0) 1.7 2.0 1.7 1.8
Y R (mg/0) 3 4 3 3
BT RE (mg/0) 11.2 10.0 9.2 9.1
KGR (MPN/100m0) 1. 3E+03 — - -
n—~NHU Y E & A & (mg/0) - - - -
BEFR (mg/0) 1.2 - 1.2 —
EUNY (mg/0) 0.078 - 0. 061 -
A (mg/0) 0.001 — — -
7 x /) =V (mg/0) - - - -
i) (mg/0) - - - -
VAl e gk (mg/0) - - -
BfEE~ o T (mg/0) - - - -
w7 a (mg/0) - — — -
=y (mg/0) - - - -
TR T EEE (mg/0) 0. 04 - — -
D ARIED A (mg/0) 0. 033 — — -
ERREE (mS/m) 13 12 13 13
Bt A (mg/0) 3 - 3 -
feA A v A mmiE Al (mg/0) - - - -
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FHAE)I (RRF04E) HEH - FR204E8 H 13 H #*-3(2)-5
HIEE B 10:00 16:00 22:00 14:00
PR 5 = = 5
mi A K (BEKE) (mm) 6.0 — — —
2KIE (m) 1.200 1.190 1. 200 1.200
BRI (m) 0.124 0.110 0.118 0.118
FiRes (m/F) 0.48 0. 45 0.45 0.44
i (m/Fb) 21.00 19. 25 19. 64 19. 42
SR (C) 31.1 30. 3 27. 4 24.5
JKIE. (C) 23.8 25.0 23.9 22. 4
=N 0% B Mo 0% B Mo
B (J) > 100 > 100 100 > 100
B3 w5 5 R R
S8l HHa L ML HH L ML
B R T A (mg/0) | < 0.001 - - -
2TV (mg/0) A - - —
i) (mg/0) | < 0.005 - - -
A7 & (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) - — - -
DA =P 4 (mg/0) | < 0.002 - - —
ERIArES (mg/0) | < 0.0002 - - -
1,2->/7ngxH (mg/0) | < 0.0004 - — -
LI-YZuupxF L (mg/0) | < 0.002 - — -
VA-L,2-vZunxF Ly (mg/0) | < 0.004 — — -
LLI-FVZuouxH (mg/0) | < 0.0005 — - —
,1,2-hY Zoo=x=X (mg/0) | < 0.0006 - - —
[PAEREES (mg/0) | < 0.002 - 0. 002 —
FhS/7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3>/7nu7a~y (mg/0) | < 0.0002 — — —
FU7h (mg/0) | < 0.0006 - ~ —
D (mg/0) [ < 0.0003 — - —
FARH LT (mg/0) | < 0.002 — —
NP (mg/0) | < 0.001 — - —
L (mg/0) | < 0.002 - - —
HRIEER (mg/0) 1.0 — - -
et E R (mg/0) | < 0.05 - -
TERTE R K M BAE R (mg/0) 1.0 — = -
503K (mg/0) | < 0.08 - = —
ESES (mg/0) | < 0.02 - - -
IKEA A BE 8.0 8.1 7.7 7.6
UL B R (mg/0) 1.6 0.8 1.7 0.7
(LS BR 3E TRk i (mg/0) 2.4 2.2 2.8 2.1
Y R (mg/0) 3 3 5 3
BT RE (mg/0) 9.4 8.8 7.7 1
KGR (MPN/100m0) 2. TE+03 — - -
n—~NHU Y E & A & (mg/0) | < 0.5 — 0.5 -
BEFR (mg/0) 1.5 - 1.4 —
EUNY (mg/0) 0. 057 - 0. 069 -
A (mg/0) [ < 0.001 — - -
7 x ) —)LH (mg/0) | < 0.005 - - -
&l (mg/0) [ < 0.01 — — —
VAl e gk (mg/0) | < 0.02 — -
e~ o v (mg/0) | < 0.01 - - *
AN (mg/0) - - - -
e (mg/0) | < 0.008 — = -
TUoE=THRER (mg/0) 0. 05 - - -
D ABRREY A (mg/0) 0. 046 - - —
ERREE (mS/m) 14 14 14 14
Bt A (mg/0) 4 - 4 -
feA A v A mmiE Al (mg/0) | < 0.03 - — -
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FHAE)I (RRF04E) HEH - FR204F9H 10H #*-3(2)-6
HIEE B 10:00 16:00 22:00 14:00
ENS i i i [
mi A K (BEKE) (mm) 0.0 — — —
KT (m) 1.430 1. 420 1. 400 1. 350
BRI (m) 0. 164 0. 164 0. 154 0. 154
PR (m/F)) 0.79 0. 80 0.74 0.70
i (m’/Th) 53. 14 53. 37 46.67 43. 56
SR (C) 28. 8 28.9 19. 8 18.5
JKIE. (C) 21.0 21. 4 20. 2 19.8
=N ST WVWEE GRS 5 WKE Bl 5 WK A
B (%) 55 52 74 54
B3 R 5 w5 R
pisc) HHa L ML HHa L ML
B R T A (mg/0) | < 0.001 - - -
BTV (mg/0) Ak - - -
& (mg/0) [ < 0.005 — - -
A7 & (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vyuauaRrAR (mg/0) - - - -
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) — — — —
CA-1,2-VZ/aaxF Ly (ng/0) — — — -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
,1,2- U Zoox kX (mg/0) - - - -
PAEREES 4 (mg/0) | < 0.002 - < 0.002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — < 0.0005 -
L3-YZunnra~y (mg/0) - - - -
FTU7h (mg/0) - - - -
D% (mg/0) - - - -
FA X HNT (mg/0) - -
NP (mg/0) — - - -
L (mg/0) - - - -
HRIEER (mg/0) 1.2 — - —
et E R (mg/0) | < 0.05 - -
HERMEE R L O RREERE  (ng/0) 1.2 — - -
>0 (mg/0) - - - —
ESES (mg/0) - - - —
IKEA A BE 7.8 7.8 7.8 7.7
UL B R (mg/0) 0.7 0.9 0.6 0.4
(PR EERE (mg/0) 2.1 1.9 1.8 1.9
Y R (mg/0) 5 6 5 5
BT RE (mg/0) 9.5 9.6 8.5 8.6
KGR (MPN/100m0) 7. 9E+02 — - -
n—~NHU Y E & A & (mg/0) - - - -
BEFR (mg/0) 1.5 - 1.5 —
EUNY (mg/0) 0. 065 - 0. 049 -
A (mg/0) 0. 002 — — -
7 x /) =V (mg/0) - - - -
i) (mg/0) - - - -
VAl e gk (mg/0) - - -
BfEE~ o T (mg/0) - - - -
AN (mg/0) - - - -
= (mg/0) - - - —
TUoE=THRER (mg/0) 0.04 - - -
D ABRREY A (mg/0) 0.036 - - —
ERREE (mS/m) 13 13 13 13
Bt A (mg/0) 3 - 3 -
feA A v A mmiE Al (mg/0) - - - -
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FHAE)I (RRF04E) HEH - FR204FE10H 22 H -3(2)-7
HIEE B 10:00 16:00 22:00 14:00
PR = = = =
mi A K (BEKE) (mm) 0.0 — — —
2KIE (m) 1. 100 1. 130 1.130 1. 130
BRI (m) 0. 074 0. 068 0. 068 0. 068
PR (m/F)) 0. 47 0. 46 0. 45 0.48
i (m/Fb) 19.31 18.76 18.35 19. 75
SR (C) 22.9 22.3 16. 7 16. 2
JKIE. (C) 17.5 18.5 17.3 16. 4
=N 0% B Mo 0% B Mo
B (J) > 100 > 100 > 100 > 100
B3 w5 5 R R
S8l HHa L ML HH L ML
B R T A (mg/0) | < 0.001 - - -
2TV (mg/0) A - - —
i) (mg/0) | < 0.005 - - -
A7 & (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - — — -
,L1-YZuoagxF L (mg/0) — — — —
CA-1,2-VZ/aaxF Ly (ng/0) — — — -
LLI-RVZuouxH (mg/0) [ < 0.0005 — - -
L,L1,2-hY Z7opo=x=X (mg/0) — - - —
PAEREES 4 (mg/0) | < 0.002 - < 0.002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — < 0.0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D4 (mg/0) — - - -
FA X HNT (mg/0) - -
NP (mg/0) — - - -
L (mg/0) - - - -
HRIEER (mg/0) 1.3 — - —
et E R (mg/0) | < 0.05 - -
HERMEE R L O RREERE  (ng/0) 1.3 — - -
503K (mg/0) | < 0.08 - = —
ESES (mg/0) | < 0.02 - - -
IKEA A BE 7.9 8.2 7.8 7.7
UL B R (mg/0) 0.5 0.6 0.6 0.5
(LS BR 3E TRk i (mg/0) 1.4 1.9 1.6 1.7
Y R (mg/0) 1 2 3 P
BT RE (mg/0) 10.3 10. 4 8.8 8.6
KGR (MPN/100m0) 7. 9E+02 — - -
n—~NHU Y E & A & (mg/0) - - - -
BEFR (mg/0) 1.5 - 1.5 —
EUNY (mg/0) 0. 044 - 0.072 -
A (mg/0) 0.001 — — -
7= ) —)VHH (mg/0) | < 0.005 - - -
il (mg/0) [ < 0.01 — — —
VAl e gk (mg/0) 0.03 - -
e~ o v (mg/0) | < 0.01 - - *
w7 a (mg/0) - — — -
=y (mg/0) - - - -
TR =T RER (mg/0) 0. 04 - - -
D ARIED A (mg/0) 0. 040 — — -
ERREE (mS/m) 15 14 15 16
Bt A (mg/0) 4 - 3 -
feA A v A mmiE Al (mg/0) | < 0.03 - — -

BEHm3-18




FHAE)I (RRF04E) HIEH - FR204E11LH5H #*-3(2)-8
HIEE B 10:00 16:00 22:00 14:00
BN i i I3 %
mi A K (BEKE) (mm) 0.0 — — —
KT (m) 1.200 1. 130 1.130 1. 130
BRI (m) 0.132 0.114 0.114 0.114
PR (m/F)) 0. 50 0. 50 0.51 0. 50
i (m’/Th) 21. 88 20. 52 20. 57 20. 26
SR (C) 14.2 14.2 10. 8 7.7
JKIE. (C) 15.5 15.0 15.5 14. 8
=N 0% B Mo 0% B Mo
B (J) > 100 > 100 100 > 100
B3 w5 5 w5 R
pisc) HHa L ML HHa L ML
B R T A (mg/0) | < 0.001 - - -
2TV (mg/0) AR H - - —
i) (mg/0) | < 0.005 - - -
A7 & (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) - — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) — — — —
A-1,2-V7uvoxF Ly (mg/l) - - - -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
L,L1,2-hY Z7opo=x=X (mg/0) — - - —
PAEREES 4 (mg/0) | < 0.002 - 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3-YZraara~ (mg/0) — - - -
FTU7h (mg/0) - - - -
D% (mg/0) - - - -
FFA X IVT (mg/0) - -
NP (mg/0) — - - -
1 (mg/0) - - - -
HRIEER (mg/0) 1.2 — - —
et E R (mg/0) | < 0.05 - -
HERMEE R L O RREERE  (ng/0) 1.2 — - -
>0 (mg/0) - - - —
ESES (mg/0) - - - —
IKEA A BE 8.2 8.5 7.9 7.7
UL B R (mg/0) 0.7 1.3 1.0 0.7
(PR EERE (mg/0) 1.7 1.7 1.5 1.5
Y R (mg/0) 2 2 1 1
BT RE (mg/0) 11. 1 10.9 9.4 9.5
KGR (MPN/100m0) 3. 3E+02 — - -
n—~NHU Y E & A & (mg/0) - - - -
BEFR (mg/0) 1.3 - 1.5 —
EUNY (mg/0) 0. 049 - 0. 074 -
A (mg/0) 0.001 — — -
7 x /) =V (mg/0) - - - -
i) (mg/0) - - - -
VAl e gk (mg/0) - - -
BfEE~ o T (mg/0) - - - -
AN (mg/0) - - - -
= (mg/0) - - - —
TUoE=THRER (mg/0) 0.04 - - -
D ABRREY A (mg/0) 0. 048 - - —
ERREE (mS/m) 14 14 15 15
Bt A (mg/0) 4 - 3 -
feA A v A mmiE Al (mg/0) - - - -

BEHm3-19




FHAE)I (RRF04E) HIEH - FR204FE12H 3 H #-3(2)-9
HIEE B 10:00 16:00 22:00 14:00
BN i i 5 i
mi A K (BEKE) (mm) 0.5 — — —
2KIE (m) 0. 320 0. 320 0.310 0. 340
BRI (m) 0. 058 0. 056 0. 058 0. 060
PR (m/F)) 0. 68 0. 68 0. 69 0. 68
i (m/Fb) 18. 28 17. 80 18. 24 18.57
SR (C) 14.9 13.7 6.2 5.7
JKIE. (C) 12.9 12.6 12.5 11.2
=N 4,375 B PR ) 0% B Mo
B (J) > 100 50 100 > 100
B3 R 5 w5 R
pisc) HHa L ML HHa L ML
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) AR H - - —
i) (mg/0) | < 0.005 - - -
A7 & (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) — — — —
CA-1,2-VZ/aaxF Ly (ng/0) — — — -
LLI-RVZuouxH (mg/0) [ < 0.0005 — - -
,1,2- U Zoox kX (mg/0) - - - -
M) ZopxzFL v (mg/0) | < 0.002 — 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D% (mg/0) - - - -
FFA X IVT (mg/0) - -
_LP (mg/0) - - . ’
L (mg/0) - - - =
HRIEER (mg/0) 1.3 — - -
et E R (mg/0) | < 0.05 - -
HERMEE R L O RREERE  (ng/0) 1.3 — - -
503K (mg/0) | < 0.08 - = —
ESES (mg/0) | < 0.02 - - -
IKEA A BE 8.1 8.2 7.9 7.8
UL B R (mg/0) 1.2 0.8 0.5 0.9
(PR EERE (mg/0) 1.6 1.7 1.7 1.7
Y R (mg/0) 3 10 5 3
BT RE (mg/0) 11.8 11.0 10.3 10. 3
KGR (MPN/100m0) 2. 3E+02 — - -
n—~NHU Y E & A & (mg/0) - - - -
BEFR (mg/0) 1.5 - 1.4 —
EUNY (mg/0) 0. 063 - 0. 043 -
A (mg/0) 0. 002 — — -
7 x ) —)LH (mg/0) | < 0.005 - - -
&l (mg/0) [ < 0.01 — — —
VAl e gk (mg/0) 0.02 - -
e~ o v (mg/0) | < 0.01 - - *
w7 a (mg/0) - — — -
=y (mg/0) - - - -
TR =T RER (mg/0) | < 0.04 - - —
D ARIED A (mg/0) 0. 047 — — -
ERREE (mS/m) 15 16 16 17
Bt A (mg/0) 4 - 4 -
feA A v A mmiE Al (mg/0) | < 0.03 - — -

EORH3-20




FHAE)I (RRF04E) HEH - FEIF1LHTH #-3(2)-10
HIEE B 10:00 16:00 22:00 14:00
PR 5 5 = =
mi A K (BEKE) (mm) 0.0 — — —
KT (m) 0. 330 0. 350 0. 330 0. 340
BRI (m) 0. 056 0. 060 0. 060 0. 056
PR (m/F)) 0.71 0.72 0.72 0.71
i (m/Fb) 19. 94 20. 38 20. 25 20. 18
SR (C) 7.0 7.7 5.5 4.5
IKIE. (C) 8.5 8.9 8.0 8.0
=N 0% B Mo 0% B Mo
B (J) > 100 > 100 100 100
B3 w5 Iy w5 R
pisc) HHa L ML L L ML
B R T A (mg/0) | < 0.001 - - -
2TV (mg/0) AR H - - —
i) (mg/0) | < 0.005 - - -
Nz o A (mg/0) | < 0.02 - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vyuauaRrAR (mg/0) - - - -
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) — — — —
CA-1,2-VZ/aaxF Ly (ng/0) — — — -
LLI-RVZuouxH (mg/0) [ < 0.0005 — - -
,1,2- U Zoox kX (mg/0) - - - -
PAEREES 4 (mg/0) | < 0.002 - 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D% (mg/0) - - - -
FFA X IVT (mg/0) - -
NP (mg/0) — - - -
1 (mg/0) - - - -
HRIEER (mg/0) 1.2 — - —
et E R (mg/0) | < 0.05 - -
HERMEE R L O RREERE  (ng/0) 1.2 — - -
>0 (mg/0) - - - —
ESES (mg/0) - - - —
IKEA A BE 8.2 8.7 7.9 7.7
UL B R (mg/0) 1.0 1.6 1.7 1.5
(PR EERE (mg/0) 1.5 1.6 1.4 1.4
Y R (mg/0) 2 2 2 1
BT RE (mg/0) 13.0 13.8 11.5 11.3
KGR (MPN/100m0) 2. 3E+02 — - -
n—~NHU Y E & A & (mg/0) - - - -
BEFR (mg/0) 1.3 - 1.4 —
EUNY (mg/0) 0. 055 - 0. 068 -
A (mg/0) 0.001 — — -
7 x /) =V (mg/0) - - - -
i) (mg/0) - - - -
VAl e gk (mg/0) - - -
BfEE~ o T (mg/0) - - - -
w7 a (mg/0) - — — -
=y (mg/0) - - - -
TR T EEE (mg/0) 0. 04 - — -
D ARIED A (mg/0) 0. 040 — — -
ERREE (mS/m) 15 15 16 17
Bt A (mg/0) 4 — 4 -
feA A v A mmiE Al (mg/0) - - - -

HEHRm3-21




FHAE)I (RRF04E) HEH - FE21F2H4H #£-3(2)-11
HIEE B 10:00 16:00 22:00 14:00
PR = = = =
mi A K (BEKE) (mm) 0.0 — — —
2KIE (m) 1. 100 1.160 1. 100 1.120
BRI (m) 0.126 0.126 0.126 0.120
ikl (m/F) 0.54 0.54 0.57 0.58
i (m/Fb) 22.30 22.23 23.57 24.15
SR (C) 7.0 6.6 6.8 5.0
JKIE. (C) 7.5 8.2 8.2 7.5
=N 0% B Mo 0% B Mo
B (J) > 100 > 100 > 100 > 100
B3 w5 5 w5 R
S8l HHa L ML B L ML
B RIU LA (mg/0) [ < 0.001 — - —
BTV (mg/0) Ak - - -
i) (mg/0) | < 0.005 - - -
AN A=A (mg/0) | < 0.02 — -
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - - -
PCB (mg/0) — — = -
DA =P 4 (mg/0) | < 0.002 - — —
ERIArES (mg/0) | < 0.0002 - - -
1,2->/7ngxH (mg/0) | < 0.0004 - — -
,I->ZugxFL (mg/0) | < 0.002 - — -
VA-L,2-vZunxF Ly (mg/0) | < 0.004 — — -
LLI-FVZuouxH (mg/0) | < 0.0005 — - —
,1,2-hY Zoo=x=X (mg/0) | < 0.0006 - — —
P AEEES A4 (mg/0) | < 0.002 - < 0.002 —
FhS/7puxFL (mg/0) | < 0.0005 — < 0.0005 -
,3>/7nu7a~y (mg/0) | < 0.0002 — — —
FU7h (mg/0) | < 0.0006 - ~ —
D% (mg/0) [ < 0.0003 — - —
FARH LT (mg/0) | < 0.002 — —
NP (mg/0) | < 0.001 — - —
Tl (mg/0) | < 0.002 - ~ -
HRIEER (mg/0) 1.2 — - -
et E R (mg/0) | < 0.05 - -
HEEEER L AR ERE (ng/0) 1.2 - — -
503K (mg/0) | < 0.08 - = —
ESES (mg/0) | < 0.02 - - -
IKEA A BE 7.9 8.0 7.7 7.7
Eb AR E R (mg/0) 1.6 1.4 1.4 1.7
(LS BR 3E TRk i (mg/0) 1.4 2.1 2.0 2.0
Y R (mg/0) 4 4 6 3
BT RE (mg/0) 12.2 13.3 11.3 12.0
PN (MPN/100m0) 79 — = -
n—~NHU Y E & A & (mg/0) | < 0.5 — < 0.5 -
BEFR (mg/0) 1.4 - 1.7 —
EUNY (mg/0) 0. 065 - 0.13 -
A (mg/0) 0. 004 — - —
7 x ) —)LH (mg/0) | < 0.005 — - —
&l (mg/0) [ < 0.01 — — —
VAl e gk (mg/0) 0.02 - -
VAR~ 7~ (ng/0) | < 0.01 - - -
AN (mg/0) - - - -
e (mg/0) | < 0.008 — - —
TR =T RER (mg/0) | < 0.04 - — —
D ARIED A (mg/0) 0. 047 — - —
ERREE (mS/m) 15 15 15 15
Bt A (mg/0) 4 - 5 -
feA A v A mmiE Al (mg/0) | < 0.03 - — -

PHm3-22




FHAE)I (RRF04E) HEH - FE21F3H5H #£-3(2)-12
HIEE B 10:00 16:00 22:00 14:00
PR g i = Y
mi A K (BEKE) (mm) 11.5 — — —
KT (m) 1. 250 1.170 1.170 1.170
BRI (m) 0. 104 0.102 0.102 0.102
PR (m/F)) 0. 45 0.47 0.48 0.48
i (m/Fb) 16. 08 16. 47 16.95 16.95
SR (C) 10. 0 11.4 9.0 6.0
IKIE. (°C) 9.1 10. 2 9.3 8.0
=N (0% B Mo 0% B Mo
B (J) > 100 > 100 > 100 > 100
B3 R 5 w5 R
pisc) HHa L ML B L ML
B R T A (mg/0) | < 0.001 - - -
BTV (mg/0) Ak - - -
i) (mg/0) | < 0.005 - - -
AN A=A (mg/0) | < 0.02 — -
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
DA =P 4 (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) — — — —
A-1,2-V7uvoxF Ly (mg/l) - - - -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
L,L1,2-hY Z7opo=x=X (mg/0) — - - —
PAEREES 4 (mg/0) | < 0.002 - < 0.002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — < 0.0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D4 (mg/0) — - - -
FA X HNT (mg/0) - -
NP (mg/0) — - - -
L (mg/0) - - - -
HRIEER (mg/0) 1.3 — - —
et E R (mg/0) | < 0.05 - -
HERMEE R L O RREERE  (ng/0) 1.3 — - -
>0 (mg/0) - - - —
ESES (mg/0) - - - —
IKEA A BE 7.8 8.1 7.8 7.
UL B R (mg/0) 1.5 2.8 1.7 2.1
(PR EERE (mg/0) 1.8 2.2 2.0 1.
Y R (mg/0) 3 4 3 3
BT RE (mg/0) 12.4 12.4 11.4 11.3
KGR (MPN/100m0) 3. 3E+02 — -
n—~NHU Y E & A & (mg/0) - - - -
BEFR (mg/0) 1.5 - 1.5 —
EUNY (mg/0) 0. 063 - 0. 065 -
A (mg/0) 0.013 — — -
7 x /) =V (mg/0) - - - -
i) (mg/0) - - - -
VAl e gk (mg/0) - - -
Bt~ (mg/0) — — = -
w7 a (mg/0) - - - -
=y (mg/0) - - - -
TR T EEE (mg/0) 0. 04 - — -
D ARIED A (mg/0) 0. 041 — — -
ERREE (mS/m) 15 15 15 15
Bt A (mg/0) 5 — 5 -
feA A v A mmiE Al (mg/0) - - - -

HRHR3-23




BRI (E—8hER) HEH : FRlk20F4H 168 #*£-3(2)-13
HIEE B 10:40 16:40 22:40 14140
PR = = = =
mi A K (BEKE) (mm) 0.0 — — —
2KIE (m) 0. 430 0. 440 0. 450 0. 440
BRI (m) 0. 086 0. 088 0. 090 0. 088
NI (m/F)) 0.77 0.75 0.74 0.71
A (m/Fb) 2. 80 2.72 2.70 2. 60
SR (C) 20. 8 19. 1 16. 5 13.2
JKIE. (C) 14.7 15.5 14.2 13.5
=N 0% B Mo 0% B Mo
B (%) > 30 > 30 > 30 > 30
B3 w5 5 R R
S8l HEa L ML HEa L ML
B R T A (mg/0) | < 0.001 — - -
BTV (mg/0) Ak - - -
i) (mg/0) | < 0.005 - - -
AN A=A (mg/0) | < 0.02 — - -
e (mg/0) | < 0.005 — - -
KK ER (mg/0) | < 0.0005 - - -
PCB (mg/0) — — - —
vraua AR (mg/0) - - — -
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - — — -
,L1-YZuoagxF L (mg/0) - — - -
A-1,2-V7uvoxF Ly (mg/l) - - - -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
L,L1,2-hY Z7opo=x=X (mg/0) — - — -
r)ZooxzF L (mg/0) | < 0.002 - < 0.002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — < 0.0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D4 (mg/0) — - - -
FA X HNT (mg/0) - -
NP (mg/0) — - - -
L (mg/0) - - - =
HRIEER (mg/0) 1.3 — - -
et E R (mg/0) | < 0.05 - -
TERTE R K M BAE R (mg/0) 1.3 — - -
503K (mg/0) | < 0.08 - = —
ESES (mg/0) | < 0.02 - - -
IKEA A BE 7.8 7.8 7.6 7.
UL B R (mg/0) 0.8 0.9 0.8 2.1
(PR EERE (mg/0) 1.5 1.9 1.7 2.4
Y R (mg/0) 2 3 2 3
BT RE (mg/0) 10. 6 10. 1 9.5 10.0
KGR (MPN/100m0) 1. 1E+03 — - -
MV E 5 = (mg/0) - - - —
BEFR (mg/0) 1.5 - 1.5 —
EUNY (mg/0) 0. 040 - 0. 054 -
A (mg/0) 0. 004 — — —
7 x ) —)LH (mg/0) | < 0.005 — - —
&l (mg/0) [ < 0.01 — — —
VAl e gk (mg/0) | < 0.02 — -
e~ o v (mg/0) | < 0.01 - - *
AN (mg/0) - - - -
=y v (mg/0) - - — —
TrE=ThER (mg/0) 0.12 - - -
D ARIED A (mg/0) 0. 027 — — —
ERREE (mS/m) 14 14 14 14
Bt A (mg/0) 2 - 2 -
feA A v A mmiE Al (mg/0) | < 0.03 - — -

HRHm3-24




BRI (E—8hER) HEH : FRlk2055H 28 H *£-3(2)-14
HIEE B 11:00 17:00 23:00 #15:00
PR 5 = = 5§l
mi A K (BEKE) (mm) 0.0 — — —
KT (m) 0.960 0. 980 0.980 R
BRI (m) 0.192 0.196 0.196 0.200
FiRes (m/F)) 0.88 0.86 0.86 R
A (m’/Th) 19. 49 19.02 19. 05 R
SR (C) 23.6 23.2 19. 0 15. 8
JKIE. (C) 18. 4 19.8 16.5 16. 3
=N 0% B Mo 0% B PN e
B (%) > 100 93 100 60
B3 w5 fIEy w5 R
pisc) B L ML Bl Y, miiEmd v
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) A - - —
i) (mg/0) | < 0.005 - - -
Nz o A (mg/0) | < 0.02 - — -
L% (mg/0) | < 0.005 — - -
KK ER (mg/0) | < 0.0005 - - -
PCB (mg/0) — — - —
DA =P 4 (mg/0) - - — -
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - — — -
,L1-YZuoagxF L (mg/0) - — - -
CA-1,2-VZ/aaxF Ly (ng/0) — — — -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
L,L1,2-hY Z7opo=x=X (mg/0) — - — -
M) ZopxzFL v (mg/0) | < 0.002 — 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D4 (mg/0) — - - -
FA X HNT (mg/0) - -
NP (mg/0) — - - -
L (mg/0) - - - -
HRIEER (mg/0) 0.87 — - —
et E R (mg/0) | < 0.05 - -
TERTE R K M BAE R (mg/0) 0.92 — - -
>0 (mg/0) - - - —
ESES (mg/0) - - - —
IKEA A BE 7.8 7.8 7.7 7.7
UL B R (mg/0) 0.7 0.6 0.8 1.3
(PR EERE (mg/0) 1.8 1.6 2.0 2.6
Y R (mg/0) 3 4 3 10
BT RE (mg/0) 9.7 9.6 9.6 9.4
KGR (MPN/100m0) 1. 1E+03 — -
MV E 5 = (mg/0) - - - —
BEFR (mg/0) 0.99 - 1.0 —
EUNY (mg/0) 0. 022 - 0. 026 -
A (mg/0) 0. 003 — — —
7 x /) =V (mg/0) - - - -
i) (mg/0) - - - -
VAl e gk (mg/0) - - —
iRt~ o (mg/0) - - - -
AN (mg/0) - - - -
=y v (mg/0) - - — —
TR THESR (mg/@) | < 0.04 - - -
D ARIED A (mg/0) 0. 009 — — —
ERREE (mS/m) 10 10 10 10
YAk A A (mg/0) | < 2 - 2 -
feA A v A mmiE Al (mg/0) - - - —

HRHR3-25




BRI (E—8hER) HEH : FRk20FE6H11H #*£-3(2)-15
HIEE B 11:00 17:00 23:00 #15:00
PR = = = N
mi A K (BEKE) (mm) 0.0 — — —
2KIE (m) 0.570 0. 540 0.570 0. 590
BRI (m) 0.114 0.108 0.114 0.118
NI (m/F)) 0. 84 0.83 0.82 0.85
A (m/Fb) 11.06 11.06 11.16 11.91
SR (C) 24.5 23.0 18.5 19.5
JKIE. (C) 17.5 19.5 17.2 16.0
=N 5 WKRE Bl 5 WK A B 5 W R GRS
B (J) > 100 > 100 > 100 > 100
B3 w5 fIEy w5 R
S8l HHa L ML HHa L ML
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) A - - —
i) (mg/0) | < 0.005 - - -
A7 & (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) — — — —
CA-1,2-VZ/aaxF Ly (ng/0) — — — -
LLI-RVZuouxH (mg/0) [ < 0.0005 — - -
,1,2- U Zoox kX (mg/0) - - - -
PAEREES 4 (mg/0) | < 0.002 - < 0.002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — < 0.0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D% (mg/0) - - - -
FFA X IVT (mg/0) - -
NP (mg/0) — - - -
1 (mg/0) - - - -
HRIEER (mg/0) 0.98 — - —
et E R (mg/0) | < 0.05 - -
HERMEE R L O RREERE  (ng/0) 1.0 — - -
503K (mg/0) | < 0.08 - = —
ESES (mg/0) | < 0.02 - - -
IKEA A BE 7.9 7.9 7. 7.6
UL B R (mg/0) 1.3 1.2 1.1 1.0
(LS BR 3E TRk i (mg/0) 1.8 1.6 1.9 2.0
Y R (mg/0) 4 4 4 3
BT RE (mg/0) 9.9 9.8 9.5 6
KGR (MPN/100m0) 1. 1E+03 — - -
n—~NHU Y E & A & (mg/0) - - - -
BEFR (mg/0) 1.0 - 1.0 —
EUNY (mg/0) 0.014 - 0.013 -
A (mg/0) 0. 002 — — -
7 x ) —)LH (mg/0) | < 0.005 — - —
&l (mg/0) [ < 0.01 — — —
VAl e gk (mg/0) 0.07 - -
e~ o v (mg/0) | < 0.01 - - *
AN (mg/0) - - - -
=y (mg/0) - - - -
TR =T RER (mg/0) | < 0.04 - - —
D ARIED A (mg/0) 0. 007 — — -
ERREE (mS/m) 10 10 10 10
Bt A (mg/0) 2 - 2 -
feA A v A mmiE Al (mg/0) | < 0.03 - — -

EORH3-26




BRI (E—8hER) HEH . 20T H2H #%-3(2)-16
HIEE B 11:00 17:00 23:00 #15:00
PR 5 5 B =
mi A K (BEKE) (mm) 0.0 — — —
2KIE (m) 0. 860 0. 870 0. 840 0. 840
BRI (m) 0.172 0.174 0.168 0. 168
NI (m/F)) 0. 43 0.42 0. 42 0.39
A (m/Fb) 7.38 7.30 7.02 6. 58
SR (C) 29. 7 25. 4 21.4 20. 8
JKIE. (C) 19.8 22.7 19.7 17.7
=N 0% B Mo 0% B Mo
B (J) > 100 > 100 100 100
B3 w5 5 w5 R
S8l HHa L ML HHa L ML
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) A H - - —
i) (mg/0) | < 0.005 - - -
A7 & (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) — — — —
CA-1,2-VZ/aaxF Ly (ng/0) — — — -
LLI-RVZuouxH (mg/0) [ < 0.0005 — - -
,1,2- U Zoox kX (mg/0) - - - -
PAEREES 4 (mg/0) | < 0.002 - 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D4 (mg/0) — - - -
FA X HNT (mg/0) - -
NP (mg/0) — - - -
L (mg/0) - - - =
HRIEER (mg/0) 1.0 — - -
et E R (mg/0) | < 0.05 - -
HERMEE R L O RREERE  (ng/0) 1.0 — - -
>0 (mg/0) - - - —
ESES (mg/0) - - - —
IKEA A BE 8.0 8.1 7.7 7.7
UL B R (mg/0) 0.8 0.7 0.7 0.7
(LS BR 3E TRk i (mg/0) 1.5 1.7 1.7 1.6
Y R (mg/0) 1 2 1 1
BT RE (mg/0) 9.6 9.0 8.6 9.2
KGR (MPN/100m0) 2. 3E+03 — - -
n—~NHU Y E & A & (mg/0) - - - -
BEFR (mg/0) 1.1 - 1.2 —
EUNY (mg/0) 0. 022 - 0. 023 -
A (mg/0) 0.001 — — -
7 x /) =V (mg/0) - - - -
i) (mg/0) - - - -
VAl e gk (mg/0) - - -
BfEE~ o T (mg/0) - - - -
w7 a (mg/0) - — — -
=y (mg/0) - - - -
TR =T RER (mg/0) 0.13 - - -
D ARIED A (mg/0) 0.016 — — -
ERREE (mS/m) 12 11 11 12
Bt A (mg/0) 2 - 2 -
feA A v A mmiE Al (mg/0) - - - -

EORH3-27




BRI (E—8hER) HEH : FRlk20FE8H 13 H *£-3(2)-17
HIEE B 10:00 16:00 22:00 Z14:00
BN i i 5 %
mi A K (BEKE) (mm) 6.0 — — —
2KIE (m) 0. 750 0. 740 0. 740 0. 740
BRI (m) 0. 150 0.148 0.148 0. 148
il (m/F) 0.28 0.28 0.27 0.28
A (m/Fb) 4.23 4.21 4,17 4,22
SR (C) 32.8 29.5 26. 8 23.4
JKIE. (C) 23.5 25. 2 23.6 21.7
=N 0% B Mo 0% B Mo
B (J) > 100 > 100 > 100 > 100
B3 R 5 R R
S8l HHa L ML HEa L ML
B RIU LA (mg/0) | < 0.001 — - —
BTV (mg/0) Ak H - - -
i) (mg/0) | < 0.005 - - -
A7 & (mg/0) | < 0.02 - — —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - - -
PCB (mg/0) T - - —
DA =P 4 (mg/0) | < 0.002 - — —
ERIArES (mg/0) | < 0.0002 - - -
1,2-y>/7ngxH (mg/0) | < 0.0004 - — -
,I->ZugxFL (mg/0) | < 0.002 - — -
VA-L,2-vZuunxF Ly (mg/0) | < 0.004 — — -
LLI-FVZuouxH (mg/0) [ < 0.0005 — - —
,1,2-hUZoo=x=X (mg/0) | < 0.0006 - — —
P AEEES A4 (mg/0) | < 0.002 - < 0.002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — < 0.0005 -
3> /7nua7a~y (mg/0) | < 0.0002 — — —
FTU7h (mg/0) | < 0.0006 - ~ —
D (mg/0) [ < 0.0003 — - —
FARH T (mg/0) | < 0.002 — —
NP (mg/0) | < 0.001 — - —
L (mg/0) | < 0.002 - — —
HRIMEER (mg/0) 0.83 — - —
e E R (mg/0) | < 0.05 - -
TERTERE K A EATE R (mg/0) 0. 88 — - —
5038 (mg/0) | < 0.08 - = —
ESES (mg/0) | < 0.02 - - -
IKEA A BE 7.9 7.9 7.6 7.6
LA E R & (mg/0) 1.1 0.7 1.0 0.2
LS BR E TRk (mg/0) 1.8 1.8 2.0 1.5
Y R (mg/0) 1 2 2 P
BFIERE (mg/0) 8.9 8.4 7.8 7.9
KGR (MPN/100m0) 4. 9E+03 - -
n—~NHU Y E & A & (mg/0) | < 0.5 — < 0.5 -
BEFR (mg/0) 1.0 - 1.0 —
20 A (mg/0) 0. 025 - 0. 044 -
A (mg/0) [ < 0.001 — - —
7 x ) —)LH (mg/0) | < 0.005 - - -
&l (mg/0) [ < 0.01 — — —
VA S e gk (mg/0) | < 0.02 — -
it~ o (mg/0) | < 0.01 - - *
VA=A (mg/0) | < 0.02 - — -
e (mg/0) | < 0.008 — = -
T o= TRER (mg/0) 0. 08 - - —
D ARIED A (mg/0) 0.018 — - —
ERREE (mS/m) 12 12 12 12
Bt A (mg/0) 2 - 2 -
fe A A v A miE Al (mg/0) | < 0.03 - — -

PHm3-28




BRI (E—8hER) HEH : FRk2089H 10H #*£-3(2)-18
HIEE B 10:10 16:10 22:10 F14:10
BN i I 5 i
mi A K (BEKE) (mm) 0.0 — — —
2KIE (m) 0. 800 0.810 0.810 0.810
BRI (m) 0. 160 0.162 0.162 0. 162
NI (m/F)) 0. 43 0.42 0. 46 0.48
A (m/Fb) 7.26 6.99 7.63 7.96
SR (C) 29. 1 30. 2 19. 2 18.6
JKIE. (C) 20.5 23.3 20. 4 18.3
=N 0% B Mo 0% B Mo
B (J) > 100 > 100 100 > 100
B3 w5 fIEy w5 R
S8l HHa L ML HHa L ML
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) A - - —
i) (mg/0) | < 0.005 - - -
A7 & (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) — — — —
CA-1,2-VZ/aaxF Ly (ng/0) — — — -
LLI-RVZuouxH (mg/0) [ < 0.0005 — - -
,1,2- U Zoox kX (mg/0) - - - -
PAEREES 4 (mg/0) | < 0.002 - 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D% (mg/0) - - - -
FFA X IVT (mg/0) - -
NP (mg/0) — - - -
1 (mg/0) - - - -
HRIEER (mg/0) 1.2 — - -
et E R (mg/0) | < 0.05 - -
HERMEE R L O RREERE  (ng/0) 1.2 — - -
>0 (mg/0) - - - —
ESES (mg/0) - - - —
IKEA A BE 7.9 7.9 7.7 7.7
UL B R (mg/0) 0.6 0.5 0.2 0.5
(PR EERE (mg/0) 1.3 1.4 1.4 1.3
Y R (mg/0) 2 3 2 P
BT RE (mg/0) 9.0 8.8 8.4 8.9
KGR (MPN/100m0) 2. 2E+03 — - -
n—~NHU Y E & A & (mg/0) - - - -
BEFR (mg/0) 1.3 - 1.4 —
EUNY (mg/0) 0.018 - 0.018 -
A (mg/0) 0.001 — — -
7 x /) =V (mg/0) - - - -
i) (mg/0) - - - -
VAl e gk (mg/0) - - -
BfEE~ o T (mg/0) - - - -
w7 a (mg/0) - — — -
=y (mg/0) - - - -
TR =T RER (mg/0) 0.05 - - -
D ARIED A (mg/0) 0.011 — — -
ERREE (mS/m) 12 12 12 12
Bt A (mg/0) 2 - 2 -
feA A v A mmiE Al (mg/0) - - - -

EORH3-29




BRI (E—8hER) HER . FR204E10H 22 H #£-3(2)-19
HIEE B 10:00 16:00 22:00 14:00
PR = = = N
mi A K (BEKE) (mm) 0.0 — — —
2KIE (m) 0. 530 0. 560 0. 530 0. 520
BRI (m) 0. 088 0. 088 0. 086 0. 088
NI (m/F)) 0.28 0.29 0.28 0. 28
A (m/Fb) 3.16 3. 33 3.15 3.13
SR (C) 22.3 22.5 17.5 18.0
JKIE. (C) 17.6 19.0 18. 1 17. 1
=N 0% B Mo 0% B Mo
B (J) > 100 > 100 100 > 100
B3 w5 fIEy w5 R
pisc) HHa L ML HHa L ML
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) A - - —
i) (mg/0) | < 0.005 - - -
Nz o A (mg/0) | < 0.02 - — -
e (mg/0) | < 0.005 — - -
KK ER (mg/0) | < 0.0005 - - -
PCB (mg/0) — — - —
vraua AR (mg/0) - - — -
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) - — - -
A-1,2-V7uvoxF Ly (mg/l) - - - -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
,1,2- U Zoox kX (mg/0) - - - -
M) ZopxzFL v (mg/0) | < 0.002 — 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D4 (mg/0) — - - -
FA X HNT (mg/0) - -
NP (mg/0) — - - -
L (mg/0) - - - =
HRIEER (mg/0) 1.5 — - -
et E R (mg/0) | < 0.05 - -
TERTE R K M BAE R (mg/0) 1.5 — - -
503K (mg/0) | < 0.08 - = —
ESES (mg/0) | < 0.02 - - -
IKEA A BE 7.9 8.0 7.7 7.7
UL B R (mg/0) 0.6 0.5 0.7 0.3
(PR EERE (mg/0) 1.2 1.2 1.4 1.1
Ry e & (mg/0) | < 1 <1 1 <1
BT RE (mg/0) 9.9 10.0 8.5 8.6
KGR (MPN/100m0) 1. 3E+03 — - -
MV E 5 = (mg/0) - - - —
BEFR (mg/0) 1.9 - 1.9 —
EUNY (mg/0) 0. 026 - 0. 052 -
A (mg/0) 0.001 — — —
7 x ) —)LH (mg/0) | < 0.005 — - —
&l (mg/0) [ < 0.01 — — —
VAl e gk (mg/0) | < 0.02 — -
e~ o v (mg/0) | < 0.01 - - *
AN (mg/0) - - - -
=y v (mg/0) - - — —
TR =T RESR (mg/0) 0.35 - - -
D ABERED A (mg/0) 0.021 - - -
ERREE (mS/m) 16 16 16 16
Bt A (mg/0) 3 - 3 -
feA A v A mmiE Al (mg/0) | < 0.03 - — -

HRHR3-30




BRI (E—8hER) HEH : FRk205FE11H5H #%-3(2)-20
HIEE B 10:00 16:00 22:00 Z14:00
PR = 5 B 5
mi A K (BEKE) (mm) 0.0 — — —
2KIE (m) 0. 540 0. 390 0. 390 0. 390
BRI (m) 0.072 0. 044 0. 042 0. 040
NI (m/F)) 0.23 0.32 0.33 0.31
A (m/Fb) 2. 56 3. 00 3. 04 2.91
SR (C) 15. 1 17.2 8.8 7.0
JKIE. (C) 16.0 16.9 15. 4 14. 1
=N 0% B Mo 0% B Mo
B (J) > 100 > 100 100 > 100
B3 w5 5 R R
S8l HEa L ML HEa L ML
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) A H - - —
i) (mg/0) | < 0.005 - - -
A7 & (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) - — - -
vyuauaRrAR (mg/0) - - - -
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) — — — —
A-1,2-V7uvoxF Ly (mg/l) - - - -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
L,L1,2-hY Z7opo=x=X (mg/0) — - - —
PAEREES 4 (mg/0) | < 0.002 - 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3-YZraara~ (mg/0) — - - -
FTU7h (mg/0) - - - -
D% (mg/0) - - - -
FA X HNT (mg/0) - -
NP (mg/0) — - - -
L (mg/0) - - - -
HRIEER (mg/0) 1.6 — - -
et E R (mg/0) | < 0.05 - -
HERMEE R L O RREERE  (ng/0) 1.6 — - -
>0 (mg/0) - - - —
ESES (mg/0) - - - —
IKEA A BE 7.9 7.9 7.6 7.6
UL B R (mg/0) 0.8 1.0 0.6 0.6
(PR EERE (mg/0) 1.2 1.0 1.1 1.1
Y R (mg/0) [ < 1 <1 1 <1
BT RE (mg/0) 10.5 10.0 9.1 9.3
KGR (MPN/100m0) 4. 6E+02 — - -
n—~NHU Y E & A & (mg/0) - - - -
BEFR (mg/0) 1.6 - 1.9 —
EUNY (mg/0) 0. 035 - 0. 053 -
A (mg/0) 0.001 — — -
7 x /) =V (mg/0) - - - -
i) (mg/0) - - - -
VAl e gk (mg/0) - - -
BfEE~ o T (mg/0) - - - -
AN (mg/0) - - - -
= (mg/0) - - - —
TUoE=THRER (mg/0) 0. 08 - - -
D ABRREY A (mg/0) 0.016 - - —
ERREE (mS/m) 15 15 15 15
Bt A (mg/0) 3 - 3 -
feA A v A mmiE Al (mg/0) - - - -

EORHE3-31




BRI (E—8hER) HEH : FRlk205FE12H3H #%-3(2)-21
HIEE B 10:00 16:00 22:00 14:00
BN i i 5 i
mi A K (BEKE) (mm) 0.5 — —
2KIE (m) 0. 390 0. 390 0. 390 0. 390
BRI (m) 0. 050 0. 046 0.048 0. 048
il (m/F) 0.39 0.38 0.39 0.38
A (m/Fb) 3. 26 3.09 3.15 3. 17
SR (C) 14.2 13.2 3.0 2.0
JKIE. (C) 13.1 14.5 13.0 12.0
=N 4% B Mo 4% B Mo
B (J) > 100 > 100 > 100 > 100
B3 R 5 w5 R
S8l HEa L ML HHa L ML
B R T A (mg/0) | < 0.001 — - -
BTV (mg/0) Ak - - -
i) (mg/0) | < 0.005 - - -
AN A=A (mg/0) | < 0.02 — - -
e (mg/0) | < 0.005 — - -
KK ER (mg/0) | < 0.0005 - - -
PCB (mg/0) — — - —
vraua AR (mg/0) - - — -
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - — — -
,L1-YZuoagxF L (mg/0) - — - -
A-1,2-V7uvoxF Ly (mg/l) - - - -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
L,L1,2-hY Z7opo=x=X (mg/0) — - — -
r)ZooxzF L (mg/0) | < 0.002 - < 0.002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — < 0.0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D4 (mg/0) — - - -
FA X HNT (mg/0) - -
NP (mg/0) — - - -
L (mg/0) - - - =
[ (mg/0) 1.3 — - -
et E R (mg/0) | < 0.05 - -
HEEEER L AR ERE (ng/0) 1.3 - - —
503K (mg/0) | < 0.08 - = —
ESES (mg/0) | < 0.02 - - -
IKEA A BE 8.0 8.0 7. 7.6
UL B R (mg/0) 1.0 0.5 1.1 0.8
(LS BR 3E TRk i (mg/0) 1.2 1.1 1.5 1.4
Y R (mg/0) [ < 1 <1 1 1
BT RE (mg/0) 11. 1 10.5 9.7 10.0
KGR (MPN/100m0) 1. 3E+03 — - -
MV E 5 = (mg/0) - - - —
BEFR (mg/0) 1.5 - 1.7 —
EUNY (mg/0) 0. 029 - 0. 065 -
A (mg/0) 0. 005 — — —
7 x ) —)LH (mg/0) | < 0.005 — - —
&l (mg/0) 0.01 — - -
VAl e gk (mg/0) | < 0.02 — -
VAR~ 7~ (ng/0) | < 0.01 - - -
AN (mg/0) - - - -
=y v (mg/0) - - — —
TrE=ThER (mg/0) 0.10 - - -
D ARIED A (mg/0) 0.018 — — —
ERREE (mS/m) 14 14 15 14
Bt A (mg/0) 2 - 3 -
feA A v A mmiE Al (mg/0) | < 0.03 - — -

HRHR3-32




BRI (E—8hER) HEH - FEIF1LHTH #-3(2)-22
HIEE B 10:00 16:00 22:00 Z14:00
PR 5 5 = =
mi A K (BEKE) (mm) 0.0 — — —
2KIE (m) 0. 540 0. 540 0. 540 0. 520
BRI (m) 0. 066 0. 066 0. 068 0.070
NI (m/F)) 0.21 0.20 0.19 0.19
A (m/Fb) 1.99 1.90 1.81 1.86
SR (C) 8.0 7.3 4.8 4.5
JKIE. (C) 10.5 10.9 10.0 9.0
=N 0% B Mo 0% B Mo
B (J) > 100 > 100 100 > 100
B3 R e R R
pisc) HHa L ML HEa L ML
B R T A (mg/0) | < 0.001 - - -
2TV (mg/0) AR H - - —
i) (mg/0) | < 0.005 - - -
Nz o A (mg/0) | < 0.02 - — -
L% (mg/0) | < 0.005 — - -
KK ER (mg/0) | < 0.0005 - - -
PCB (mg/0) — — - —
DA =P 4 (mg/0) - - — -
ERIArES (mg/0) | < 0.0002 - - -
Lo-YZunuxkHy (mg/0) - - - -
,L1-YZuoagxF L (mg/0) - — - -
A-1,2-V7uvoxF Ly (mg/l) - - - -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
,1,2- U Zoox kX (mg/0) - - - -
M) ZopxzFL v (mg/0) | < 0.002 — 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D4 (mg/0) — - - -
FA X HNT (mg/0) - -
NP (mg/0) — - - -
L (mg/0) - - - =
HRIEER (mg/0) 1.2 — - -
et E R (mg/0) | < 0.05 - -
TERTE R K M BAE R (mg/0) 1.2 — - —
>0 (mg/0) - - - —
ERES (mg/0) - - - —
IKEA A BE 8.0 8.0 7.6 7.5
UL B R (mg/0) 1.5 0.8 1.9 1.7
(PR EERE (mg/0) 1.7 1.3 1.6 1.5
Y R (mg/0) 2 1 1 1
BT RE (mg/0) 12.4 11.5 10. 2 10. 4
KGR (MPN/100m0) 7. 9E+02 — - -
MV E 5 = (mg/0) - - - —
BEFR (mg/0) 1.5 - 1.7 —
EUNY (mg/0) 0. 044 - 0. 058 -
A (mg/0) 0. 003 — — —
7 x /) =V (mg/0) - - - -
i) (mg/0) - - - -
VAl e gk (mg/0) - - —
iRt~ o (mg/0) - - - -
7 v (mg/0) - - - -
=y (mg/0) - - - -
TR T EEE (mg/0) 0.26 - — -
D ARIED A (mg/0) 0. 009 — — —
ERREE (mS/m) 14 14 14 14
Bt A (mg/0) 2 - 2 -
feA A v A mmiE Al (mg/0) - - - —

HRHR3-33




BRI (E—8hER) HEH - FE21F2H4H #%-3(2)-23
HIEE B 10:00 16:00 22:00 14:00
PR = = = =
mi A K (BEKE) (mm) 0.0 — — —
2KIE (m) 0. 420 0. 420 0. 430 0.410
BRI (m) 0. 066 0. 066 0. 064 0. 060
il (m/F) 0.36 0.37 0.39 0.38
A (m/Fb) 3.56 3. 67 3.90 3. 66
SR (C) 7.7 8.6 6.7 5.4
JKIE. (C) 10.0 11.0 10.0 9.6
=N 0% B Mo 4,375 B GRS
B (J) > 100 > 100 100 96
B3 w5 5 R R
S8l HHa L ML HHa L ML
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) A H - - -
i) (mg/0) | < 0.005 - - -
AN A=A (mg/0) | < 0.02 — - -
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - - -
PCB (mg/0) N - - —
DA =P 4 (mg/0) | < 0.002 - — —
ERIArES (mg/0) | < 0.0002 - - -
1,2-y>/7ngxH (mg/0) | < 0.0004 - — -
,I->ZugxFL (mg/0) | < 0.002 - — -
VA-L,2-vZuunxF Ly (mg/0) | < 0.004 — — -
LLI-FVZuouxH (mg/0) | < 0.0005 — - —
,1,2-hUZoo=x=X (mg/0) | < 0.0006 - — —
PAEREES (mg/0) | < 0.002 - 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
3> /7nua7a~y (mg/0) | < 0.0002 — — —
FTU7h (mg/0) | < 0.0006 - ~ —
D (mg/0) | < 0.0003 — — —
FARH T (mg/0) | < 0.002 — —
NP (mg/0) | < 0.001 — - —
L (mg/0) | < 0.002 - ~ -
HRIMEER (mg/0) 1.4 — - -
e E R (mg/0) | < 0.05 - -
TERTERE K A EATE R (mg/0) 1.4 — = -
5038 (mg/0) | < 0.08 - = —
ESES (mg/0) | < 0.02 - - -
IKEA A BE 7.7 7.8 7.6 7.6
LA E R & (mg/0) 0.9 0.9 1.3 1.0
LS BR E TRk (mg/0) 1.3 1.1 1.9 1.5
Y R (mg/0) 1 1 2 1
BFIERE (mg/0) 11.8 11.4 12.0 10. 8
KGR (MPN/100m0) 7. 9E+02 — - -
n—HYHEWE S A & (mg/0) | < 0.5 — 0.5 -
BEFR (mg/0) 1.7 - 2.1 —
20 A (mg/0) 0. 031 - 0. 065 -
A (mg/0) 0. 002 — - —
7 x ) —)LH (mg/0) | < 0.005 — - —
&l (mg/0) [ < 0.01 — — —
VA S e gk (mg/0) | < 0.02 - -
it~ o (mg/0) | < 0.01 - - *
B e b (mg/0) | < 0.02 - - -
e (mg/0) | < 0.008 — = -
T o= TRER (mg/0) 0.10 - - —
D ARIED A (mg/0) 0.018 — - —
ERREE (mS/m) 14 14 15 14
Bt A (mg/0) 2 - 3 -
fe A A v A miE Al (mg/0) | < 0.03 - — -

ERHm3-34




BRI (E—8hER) HEH - FE21F3H5H #%-3(2)-24
HIEE B 10:00 16:00 22:00 14:00
PR 5 5 = N
mi A K (BEKE) (mm) 11.5 — —
2KIE (m) 0. 560 0. 530 0. 530 0. 540
BRI (m) 0. 096 0. 094 0. 096 0. 096
NI (m/F)) 0.52 0.51 0.48 0.49
A (m/Fb) 6. 34 6.23 5. 89 5. 86
SR (C) 8.0 11.0 7.6 5.8
JKIE. (C) 9.0 12.3 10. 7 9.1
=N 4% B Mo 4% B Mo
B (J) > 100 > 100 100 100
B3 R 5 w5 R
S8l HEa L ML HHa L ML
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) A H - - —
i) (mg/0) | < 0.005 - - -
A7 & (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) — — — —
CA-1,2-VZ/aaxF Ly (ng/0) — — — -
LLI-RVZuouxH (mg/0) [ < 0.0005 — - -
,1,2- U Zoox kX (mg/0) - - - -
M) ZopxzFL v (mg/0) | < 0.002 — 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D% (mg/0) - - - -
FFA X IVT (mg/0) - -
NP (mg/0) — - - -
1 (mg/0) - - - -
HRIEER (mg/0) 0.95 — - —
et E R (mg/0) | < 0.05 - -
HERMEE R L O RREERE  (ng/0) 1.0 — - -
>0 (mg/0) - - - —
ESES (mg/0) - - - —
IKEA A BE 7.7 7. 7.6 7.6
UL B R (mg/0) 1.9 2.1 2.0 1.8
(PR EERE (mg/0) 1.3 1.5 1.5 1.6
Y R (mg/0) 1 2 3 P
BT RE (mg/0) 12.2 11.3 11.0 11.5
KGR (MPN/100m0) 4. 9E+02 — - -
n—~NHU Y E & A & (mg/0) - - - -
BEFR (mg/0) 1.2 - 1.2 —
EUNY (mg/0) 0. 022 - 0. 033 -
A (mg/0) 0.001 — — -
7 x /) =V (mg/0) - - - -
i) (mg/0) - - - -
VAl e gk (mg/0) - - -
BfEE~ o T (mg/0) - - - -
w7 a (mg/0) - — — -
=y (mg/0) - - - -
TR =T RER (mg/0) 0. 07 - - -
D ARIED A (mg/0) 0.010 — — -
ERREE (mS/m) 11 11 11 11
Bt A (mg/0) 2 - 2 -
feA A v A mmiE Al (mg/0) - - - -

EORH3-35




INER)I (B EHERE) HEH : FRlk20F4H 160 #*£-3(2)-25
HIEE B 11:20 17:20 23:20 #15:20
PR = = = =
mi A K (BEKE) (mm) 0.0 — — —
2KIE (m) 0. 520 0. 500 0.510 0. 500
BRI (m) 0. 104 0.100 0.102 0.100
NI (m/F)) 0. 35 0. 36 0. 35 0.34
A (m/Fb) 2.19 2.22 2.19 2.09
SR (C) 21.2 18.8 15.9 13.7
JKIE. (C) 15.5 14.6 14. 3 13.2
=N 0% B Mo 0% B Mo
B (%) > 30 > 30 30 > 30
B3 w5 5 w5 R
S8l HHa L ML HHa L ML
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) A H - - —
i) (mg/0) | < 0.005 - - -
A7 & (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - — — -
,L1-YZuoagxF L (mg/0) — — — —
CA-1,2-VZ/aaxF Ly (ng/0) — — — -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
L,L1,2-hY Z7opo=x=X (mg/0) — - - —
PAEREES 4 (mg/0) | < 0.002 - 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3-YZraara~ (mg/0) — - - -
FTU7h (mg/0) - - - -
D% (mg/0) - - - -
FA X HNT (mg/0) - - -
NP (mg/0) — - - -
L (mg/0) - - - -
HRIEER (mg/0) 2.2 — - —
et E R (mg/0) | < 0.05 - -
HERMEE R L O RREERE  (ng/0) 2.2 — - -
503K (mg/0) | < 0.08 - = —
ESES (mg/0) | < 0.02 - - -
IKEA A BE 7.8 7.9 7.7 7.7
UL B R (mg/0) 0.6 0.7 0.7 1.2
(PR EERE (mg/0) 1.9 1.8 4,0 1.9
Y R (mg/0) 2 3 1 1
BT RE (mg/0) 9.9 9.8 9.9 10. 2
KGR (MPN/100m0) 4. 9E+02 — - -
n—~NHU Y E & A & (mg/0) - - - -
BEFR (mg/0) 2.5 - 2.5 —
EUNY (mg/0) 0.10 - 0. 085 -
A (mg/0) 0.001 - - -
7 x ) —)LH (mg/0) | < 0.005 — - —
&l (mg/0) [ < 0.01 — — —
VAl e gk (mg/0) | < 0.02 — -
VAfRME~ > T~ (ng/0) | < 0.01 - - -
AN (mg/0) - - - -
= (mg/0) - - - —
TUoE=THRER (mg/0) 0. 09 - - -
D ABRREY A (mg/0) 0. 090 - - —
ERREE (mS/m) 19 18 18 19
Bt A (mg/0) 4 - 4 -
feA A v A mmiE Al (mg/0) | < 0.03 - — -

ERH3-36




INER)I (B EHERE) HEH - FRlk2055H 28 H #£-3(2)-26
HIEE B 12:10 18:00 0:00 21600
PR = = = N
mi A K (BEKE) (mm) 0.0 — — —
KT (m) 0.590 0.610 0.610 R
BRI (m) 0.118 0.122 0.122 0. 150
JiRCs (m/F)) 0.65 0.65 0.60 K
A (m’/Th) 4.07 4. 17 3.75 R
SR (C) 24. 2 22.5 18.9 15.5
JKIE. (C) 20. 3 20. 2 17.3 16. 8
=N B 5 W R B2 WK B 5 W R B
B (%) 88 90 82 23
B3 R 5 R PE
S8l HHa L ML Byl By, miiEmd v
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) AR H - - —
i) (mg/0) | < 0.005 - - -
A7 & (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) — — — —
CA-1,2-VZ/aaxF Ly (ng/0) — — — -
LLI-RVZuouxH (mg/0) [ < 0.0005 — - -
,1,2- U Zoox kX (mg/0) - - - -
PAEREES 4 (mg/0) | < 0.002 - < 0.002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — < 0.0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D% (mg/0) - - - -
FFA X IVT (mg/0) - - -
NP (mg/0) — - - -
1 (mg/0) - - - -
HRIEER (mg/0) 2.1 — - -
et E R (mg/0) | < 0.05 - -
HERMEE R L O RREERE  (ng/0) 2.1 — - -
>0 (mg/0) - - - —
ESES (mg/0) - - - —
IKEA A BE 7.9 7.9 7.8 7.7
UL B R (mg/0) 0.7 0. 4 0.6 2.0
(PR EERE (mg/0) 1.8 2.0 1.9 5.5
Ry e & (mg/0) 3 5 4 28
BT RE (mg/0) 9.2 9.2 9.5 9.3
KGR (MPN/100m0) 3. 3E+03 — - -
n—~NHU Y E & A & (mg/0) - - - -
BEFR (mg/0) 2.3 - 2.3 —
EUNY (mg/0) 0. 092 - 0. 092 -
A (mg/0) 0. 002 — — -
7= ) —)VHH (mg/0) - — - -
il (mg/0) - - - -
VAl e gk (mg/0) - - -
iRt~ o (mg/0) - - - -
AN (mg/0) - - - -
=y (mg/0) - - - -
TR =T RER (mg/0) 0. 06 - - -
D ARIED A (mg/0) 0. 080 — — -
ERREE (mS/m) 17 19 20 17
Bt A (mg/0) 4 - 4 -
feA A v A mmiE Al (mg/0) - - - -

EORHR3-37




INER)I (B EHERE) HEH - FR204F6 H 11 H #£-3(2)-21
HIEE B 12:30 18:30 0:30 $16:30
PR = = = N
mi A K (BEKE) (mm) 0.0 — — —
KT (m) 0. 650 0. 650 0. 680 R
BRI (m) 0. 130 0.130 0.136 0. 150
JiRCs (m/F)) 0.52 0. 48 0.51 K
A (m’/Th) 3. 58 3.21 3.53 R
SR (C) 24. 8 22.0 19. 0 19.0
JKIE. (C) 19.0 19.6 18.0 16. 8
=N B 5 W R B2 WK B 5 W R RN
B (J) > 100 > 100 > 100 36
B3 R 5 R PE
pisc) HHa L ML HHa L HEY & Y
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) AR H - - —
i) (mg/0) | < 0.005 - - -
Nz o A (mg/0) | < 0.02 - — -
e (mg/0) | < 0.005 — - -
KK ER (mg/0) | < 0.0005 - - -
PCB (mg/0) — — - —
vyuauaRrAR (mg/0) - - - -
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - — — -
,L1-YZuoagxF L (mg/0) - — - -
CA-1,2-VZ/aaxF Ly (ng/0) — — — -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
L,L1,2-hY Z7opo=x=X (mg/0) — - — -
r)ZooxzF L (mg/0) | < 0.002 - < 0.002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — < 0.0005 -
,3-YZraara~ (mg/0) — - — -
F T N (mg/0) - - - -
D4 (mg/0) — - - -
FA X HNT (mg/0) - - -
NP (mg/0) — - - -
L (mg/0) - - - -
HRIEER (mg/0) 2.0 — - —
et E R (mg/0) | < 0.05 - -
TERTE R K M BAE R (mg/0) 2.0 — - -
503K (mg/0) | < 0.08 - = —
ESES (mg/0) | < 0.02 - - -
IKEA A BE 8.2 8.1 7.7 7.7
UL B R (mg/0) 1.5 0.8 1.0 1.2
(PR EERE (mg/0) 1.9 1.9 2.0 2.8
Y R (mg/0) 4 7 4 11
BT RE (mg/0) 9.8 8.9 .2 9.3
KGR (MPN/100m0) 4. 9E+03 — -
MV E 5 = (mg/0) - - - —
BEFR (mg/0) 2.2 - 2.2 —
EUNY (mg/0) 0.10 - 0. 083 -
A (mg/0) 0.001 — — —
7 x ) —)LH (mg/0) | < 0.005 — - —
&l (mg/0) [ < 0.01 — — —
VAl e gk (mg/0) 0.04 - —
iRt~ o (mg/0) | < 0.01 - - -
7 v (mg/0) - - - -
= v (mg/0) — — — -
TR T EEE (mg/0) 0. 04 - — -
D ARIED A (mg/0) 0. 081 — — —
ERREE (mS/m) 18 18 19 19
Bt A (mg/0) 4 - 4 -
feA A v A mmiE Al (mg/0) | < 0.03 - — -

HRHR3-38




INER)I (B EHERE) HEH . FE20ETH2H #%-3(2)-28
HIEE B 12:00 18:00 0:00 21600
PR 5 5 B =
mi A K (BEKE) (mm) 0.0 — — —
2KIE (m) 0. 640 0. 560 0. 590 0.570
BRI (m) 0.128 0.112 0.118 0.114
NI (m/F)) 0.51 0.51 0.48 0. 50
A (m/Fb) 2.88 2. 77 2.62 2. 66
SR (C) 25.9 24.5 20. 9 21.0
JKIE. (C) 22.5 22.7 19.7 18.2
=N 0% B Mo 0% B Mo
B (J) > 100 > 100 100 100
B3 w5 5 R R
pisc) HEa L ML HEa L ML
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) A H - - -
i) (mg/0) | < 0.005 - - -
A7 & (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - — — -
,L1-YZuoagxF L (mg/0) — — — —
A-1,2-V7uvoxF Ly (mg/l) - - - -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
L,L1,2-hY Z7opo=x=X (mg/0) — - - —
PAEREES 4 (mg/0) | < 0.002 - 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3-YZraara~ (mg/0) — - - -
FTU7h (mg/0) - - - -
D% (mg/0) - - - -
FA X HNT (mg/0) - -
NP (mg/0) — - - -
L (mg/0) - - - -
HRIEER (mg/0) 1.8 — - -
et E R (mg/0) | < 0.05 - -
HERMEE R L O RREERE  (ng/0) 1.8 — - -
>0 (mg/0) - - - —
ERES (mg/0) - - - -
IKEA A BE 8.2 8.1 7.8 7.8
UL B R (mg/0) 0.8 0.7 0.6 0.6
(PR EERE (mg/0) 2.0 1.9 2.1 1.8
Y R (mg/0) 3 2 2 P
BT RE (mg/0) 9.1 8.8 9.2 9.4
KGR (MPN/100m0) 1. 7TE+03 — -
n—~NHU Y E & A & (mg/0) - - - -
BEFR (mg/0) 2.1 - 2.0 —
EUNY (mg/0) 0.10 - 0.076 -
A (mg/0) 0.001 - - -
7 x /) =V (mg/0) - - - -
i) (mg/0) - - - -
VAl e gk (mg/0) - - -
gt~ > (mg/0) - - - -
AN (mg/0) - - - -
=y v (mg/0) - - — —
TUoE=THRER (mg/0) 0. 05 - - -
D ABRREY A (mg/0) 0.084 - - —
ERREE (mS/m) 18 18 19 18
Bt A (mg/0) 4 - 4 -
feA A v A mmiE Al (mg/0) - - - -

EORH3-39




INER)I (B EHERE) HEH - FR204E8 H 13 H #-3(2)-29
HIEE B 11:00 17:00 23:00 #15:00
PR 5 5 = 5
mi A K (BEKE) (mm) 6.0 — — —
2KIE (m) 0. 380 0. 380 0. 390 0. 400
BRI (m) 0.076 0.076 0.078 0. 080
il (m/F) 0.83 0. 81 0.76 0.76
A (m/Fb) 1.08 1. 05 0.99 1.02
SR (C) 31.2 29.0 26. 5 22.5
JKIE. (C) 26. 7 26. 2 23.5 22. 1
=N 0% B Mo 0% B Mo
B (J) > 100 > 100 > 100 > 100
B3 w5 5 R R
pisc) HEa L ML HEa L ML
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) A H - - -
i) (mg/0) | < 0.005 - - -
A7 & (mg/0) | < 0.02 - — —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - - -
PCB (mg/0) — — = -
DA =P 4 (mg/0) | < 0.002 - — —
ERIArES (mg/0) | < 0.0002 - - -
1,2->/7ngxH (mg/0) | < 0.0004 - — -
LI-YZuupxF L (mg/0) | < 0.002 - — -
VA-L,2-vZunxF Ly (mg/0) | < 0.004 — — -
LLI-FVZuouxH (mg/0) [ < 0.0005 — - —
,1,2-hY Zoo=x=X (mg/0) | < 0.0006 - — —
P AEEES A4 (mg/0) | < 0.002 - < 0.002 —
FhS/7puxFL (mg/0) | < 0.0005 — < 0.0005 -
,3>/7nu7a~y (mg/0) | < 0.0002 — — —
FU7h (mg/0) | < 0.0006 - ~ —
D% (mg/0) [ < 0.0003 — - —
FARH LT (mg/0) | < 0.002 — —
NP (mg/0) | < 0.001 — - —
L (mg/0) | < 0.002 - — —
HRIEER (mg/0) 1.3 — - -
et E R (mg/0) | < 0.05 - -
TERTE R K M BAE R (mg/0) 1.3 — = -
503K (mg/0) | < 0.08 - = —
ESES (mg/0) | < 0.02 - - -
IKEA A BE 8.2 8.2 7.8 7.8
Eb AR E R (mg/0) 1.0 0.6 0.4 0.7
(LS BR 3E TRk i (mg/0) 2.3 2.3 1.9 1.8
Y R (mg/0) 8 2 3 3
BT RE (mg/0) 8.5 8.1 7.9 8.2
KGR (MPN/100m0) 1. 3E+04 — - -
n—~NHU Y E & A & (mg/0) | < 0.5 — < 0.5 -
BEFR (mg/0) 1.6 - 1.6 —
EUNY (mg/0) 0.078 - 0. 053 -
A (mg/0) [ < 0.001 — - —
7 x ) —)LH (mg/0) | < 0.005 — - —
&l (mg/0) [ < 0.01 — — —
VAl e gk (mg/0) | < 0.02 — -
e~ o v (mg/0) | < 0.01 - - *
AN (mg/0) - - - -
e (mg/0) | < 0.008 — = -
TUoE=THRER (mg/0) 0.24 - - -
D ABRREY A (mg/0) 0. 059 - - -
ERREE (mS/m) 21 19 19 20
Bt A (mg/0) 5 - 4 -
feA A v A mmiE Al (mg/0) | < 0.03 - — -

ERHm3-40




INER)I (B EHERE) HEH : FRlk20F9H 10H #£-3(2)-30
HIEE B 10:50 16:50 22:50 14150
BN i I 5 %
mi A K (BEKE) (mm) 0.0 — — —
2KIE (m) 0.670 0. 680 0. 680 0. 680
BRI (m) 0. 134 0.136 0.136 0.136
NI (m/F)) 0. 35 0.34 0.37 0.38
A (m/Fb) 2.51 2. 50 2. 68 2.76
SR (C) 29. 5 24.5 18.7 17.3
JKIE. (C) 23. 1 22.6 19.7 18.8
=N 0% B Mo 0% B Mo
B (J) > 100 > 100 100 > 100
B3 R 5 R R
S8l HHa L ML HEa L ML
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) AR H - - —
i) (mg/0) | < 0.005 - - -
A7 & (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - — — -
,L1-YZuoagxF L (mg/0) — — — —
CA-1,2-VZ/aaxF Ly (ng/0) — — — -
LLI-RVZuouxH (mg/0) [ < 0.0005 — - -
L,L1,2-hY Z7opo=x=X (mg/0) — - - —
PAEREES 4 (mg/0) | < 0.002 - 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3-YZraara~ (mg/0) — - — -
F T N (mg/0) - - - —
D% (mg/0) - - - -
FFA X IVT (mg/0) - -
NP (mg/0) — - - -
L (mg/0) - - - =
HRIEER (mg/0) 1.9 — - -
et E R (mg/0) | < 0.05 - -
HERMEE R L O RREERE  (ng/0) 1.9 — - -
>0 (mg/0) - - - —
ERES (mg/0) - - - -
IKEA A BE 8.0 8.0 7.7 7.8
UL B R (mg/0) 0.3 0.7 0.3 0.3
(PR EERE (mg/0) 1.5 1.6 1.7 1.5
Y R (mg/0) 1 2 2 P
BT RE (mg/0) 8.9 8.9 8.9 8.7
KGR (MPN/100m0) 1. 1E+04 — - -
n—~NHU Y E & A & (mg/0) - - - -
BEFR (mg/0) 2.2 - 2.2 —
EUNY (mg/0) 0.061 - 0.071 -
A (mg/0) 0.001 — — -
7 x /) =V (mg/0) - - - -
i) (mg/0) - - - -
VAl e gk (mg/0) - - -
BfEE~ o T (mg/0) - - - -
w7 a (mg/0) - — — -
=y (mg/0) - - - -
TR =T RER (mg/0) 0. 08 - - -
D ARIED A (mg/0) 0. 048 — — -
ERREE (mS/m) 20 19 21 20
Bt A (mg/0) 4 - 4 -
feA A v A mmiE Al (mg/0) - - - -

EORH3-1




INER)I (B EHERE) HER . FR204E10H 22 H #-3(2)-31
HIEE B 10:30 16:30 22:30 14:30
PR 5 = = Y
mi A K (BEKE) (mm) 0.0 — — —
2KIE (m) 0. 460 0. 480 0.570 0. 480
BRI (m) 0. 092 0. 090 0. 094 0.096
NI (m/F)) 0.29 0. 30 0.29 0. 30
A (m/Fb) 1. 64 1.68 1.72 1.72
SR (C) 23.2 20. 8 16. 9 17. 1
JKIE. (C) 18.9 19.0 18.0 17.0
=N 0% B Mo 0% B Mo
B (J) > 100 100 100 > 100
B3 w5 5 R R
S8l HEa L ML HEa L ML
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) A H - - —
i) (mg/0) | < 0.005 - - -
A7 & (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - — — -
,L1-YZuoagxF L (mg/0) — — — —
A-1,2-V7uvoxF Ly (mg/l) - - - -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
L,L1,2-hY Z7opo=x=X (mg/0) — - - —
PAEREES 4 (mg/0) | < 0.002 - 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3-YZraara~ (mg/0) — - - -
FTU7h (mg/0) - - - -
D% (mg/0) - - - -
FA X HNT (mg/0) - - -
NP (mg/0) — - - -
L (mg/0) - - - -
HRIEER (mg/0) 2.3 — - —
et E R (mg/0) | < 0.05 - -
HERMEE R L O RREERE  (ng/0) 2.3 — - -
503K (mg/0) | < 0.08 - = —
ESES (mg/0) | < 0.02 - - -
IKEA A BE 8.1 8.2 7.8 7.8
UL B R (mg/0) 0.4 0.5 0.3 0.3
(PR EERE (mg/0) 1.4 1.7 1.5 1.6
Y R (mg/0) 1 1 1 1
BT RE (mg/0) 10.0 9.6 9.3 9.3
KGR (MPN/100m0) 7. 9E+03 — - -
n—~NHU Y E & A & (mg/0) - - - -
BEFR (mg/0) 2.5 - 2.6 —
EUNY (mg/0) 0. 099 - 0. 074 -
BN ) (mg/0) 0. 002 — = -
7 x ) —)LH (mg/0) | < 0.005 — — —
&l (mg/0) [ < 0.01 — — —
VAl e gk (mg/0) 0.02 - -
e~ o v (mg/0) | < 0.01 - - *
AN (mg/0) - - - -
=y (mg/0) - - - -
TUoE=THRER (mg/0) | < 0.04 - - -
D ABRREY A (mg/0) 0.084 - - —
ERREE (mS/m) 21 21 21 21
Bt A (mg/0) 4 - 5 -
feA A v A mmiE Al (mg/0) | < 0.03 - — -

EORH3-12




INER)I (B EHERE) HEH : FRk205FE11H5H #%-3(2)-32
HIEE B 10:30 16:30 22:30 14:30
BN i I 5 i
mi A K (BEKE) (mm) 0.0 — — —
2KIE (m) 0. 460 0. 420 0. 440 0. 450
BRI (m) 0. 084 0. 084 0. 086 0. 084
NI (m/F)) 0.24 0. 26 0.24 0.24
A (m/Fb) 1.19 1.23 1.18 1.21
SR (C) 18. 8 13.9 8.5 7.0
JKIE. (C) 15.9 17. 1 14.8 13.4
=N 4% B Mo 4% B Mo
B (J) > 100 > 100 100 > 100
B3 R 5 w5 R
S8l HEa L ML HHa L ML
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) A H - - —
i) (mg/0) | < 0.005 - - -
A7 & (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) — — — —
CA-1,2-VZ/aaxF Ly (ng/0) — — — -
LLI-RVZuouxH (mg/0) [ < 0.0005 — - -
L1,2-h)ZupxX (mg/0) - — — -
PAEREES 4 (mg/0) | < 0.002 - 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D% (mg/0) - - - -
FFA X IVT (mg/0) - - -
NP (mg/0) — - - -
1 (mg/0) - - - -
HRIEER (mg/0) 2.5 — - —
et E R (mg/0) | < 0.05 - -
HERMEE R L O RREERE  (ng/0) 2.5 — - -
>0 (mg/0) - - - —
ESES (mg/0) - - - —
IKEA A BE 8.2 8.1 7.8 7.8
UL B R (mg/0) 0.8 1.1 0.7 0.7
(PR EERE (mg/0) 1.5 1.5 1.5 1.4
Y R (mg/0) 1 1 1 1
BT RE (mg/0) 10.5 10.0 10.0 10.0
KGR (MPN/100m0) 7. 9E+02 — - -
n—~NHU Y E & A & (mg/0) - - - -
BEFR (mg/0) 2.7 - 2.8 —
EUNY (mg/0) 0. 084 - 0.10 -
A (mg/0) 0. 002 — — -
7 x /) =V (mg/0) - - - -
i) (mg/0) - - - -
VAl e gk (mg/0) - - -
BfEE~ o T (mg/0) - - - -
w7 a (mg/0) - — — -
=y (mg/0) - - - -
TR =T RER (mg/0) 0. 04 - - -
D ARIED A (mg/0) 0. 080 — — -
ERREE (mS/m) 21 21 22 21
Bt A (mg/0) 5 - 5 -
feA A v A mmiE Al (mg/0) - - - -

EORHE3-13




INER)I (B EHERE) HIEH : FR204FE12H 3 H #-3(2)-33
HIEE B 10:30 16:30 22:30 14:30
BN i I 5 %
mi A K (BEKE) (mm) 0.5 — — —
2KIE (m) 0. 420 0. 400 0.410 0.410
BRI (m) 0. 084 0. 080 0.078 0. 080
il (m/F) 0.21 0.21 0.21 0.19
A (m/Fb) 0.95 0.96 0.94 0. 89
SR (C) 17.5 8.5 3.5 2.0
JKIE. (C) 14. 2 14. 4 11.7 11.2
=N 0% B Mo 0% B Mo
B (J) > 100 > 100 > 100 > 100
B3 R 5 R R
S8l HHa L ML HEa L ML
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) AR H - - —
i) (mg/0) | < 0.005 - - -
A7 & (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - — — -
,L1-YZuoagxF L (mg/0) — — — —
CA-1,2-VZ/aaxF Ly (ng/0) — — — -
LLI-RVZuouxH (mg/0) [ < 0.0005 — - -
L,L1,2-hY Z7opo=x=X (mg/0) — - - —
PAEREES 4 (mg/0) | < 0.002 - < 0.002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — < 0.0005 -
,3-YZraara~ (mg/0) — - - -
FTU7h (mg/0) - - - -
D% (mg/0) - - - -
FFA X IVT (mg/0) - - -
NP (mg/0) — - - -
1 (mg/0) - - - -
HRIEER (mg/0) 2.7 — - —
et E R (mg/0) | < 0.05 - -
HERMEE R L O RREERE  (ng/0) 2.7 — - -
503K (mg/0) | < 0.08 - = —
ESES (mg/0) | < 0.02 - - -
IKEA A BE 8.1 8.0 7.8 7.8
UL B R (mg/0) 0.7 0.8 0.3 1.2
(LS BR 3E TRk i (mg/0) 1.3 1.6 1.6 1.4
Y R (mg/0) [ < 1 1 <] <1
BT RE (mg/0) 10.9 10. 1 10.5 10. 7
KGR (MPN/100m0) 1. 3E+03 — - -
n—~NHU Y E & A & (mg/0) - - - -
BEFR (mg/0) 2.8 - 2.9 —
EUNY (mg/0) 0.077 - 0.072 -
A (mg/0) 0. 002 — — -
7 x ) —)LH (mg/0) | < 0.005 — - —
&l (mg/0) [ < 0.01 — — —
VAl e gk (mg/0) 0.02 - -
VAfRME~ > T~ (ng/0) | < 0.01 - - -
w7 a (mg/0) - — — -
=y (mg/0) - - - -
TR =T RER (mg/0) 0.17 - - -
D ARIED A (mg/0) 0.074 — — -
ERREE (mS/m) 22 22 22 22
Bt A (mg/0) 5 - 5 -
feA A v A mmiE Al (mg/0) | < 0.03 - — -

EERHEI3-14




INER)I (B EHERE) HEH - PRI 1LHTH #%-3(2)-34
HIEE B 10:30 16:30 22:30 Z14:30
PR 5 5 LT =
mi A K (BEKE) (mm) 0.0 — — —
2KIE (m) 0. 370 0. 390 0. 390 0. 380
BRI (m) 0.074 0.074 0.074 0.076
NI (m/F)) 0.14 0.13 0.13 0.14
A (m/Fb) 0. 60 0. 59 0.57 0. 58
SR (C) 10. 2 6.6 4.4 4.3
JKIE. (C) 11.0 11.0 9.0 9.0
=N 0% B Mo 0% B Mo
B (J) > 100 > 100 > 100 100
B3 w5 fIEy w5 5
pisc) HHa L ML B L ML
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) A - - -
i) (mg/0) | < 0.005 - - -
A7 & (mg/0) | < 0.02 - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-UZuaux X (mg/0) - - - -
LiI-YZuuxFL (mg/0) - - - -
A-1,2-V7uvoxF Ly (mg/l) - - - -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
L,L1,2-hY Z7opo=x=X (mg/0) — - - —
PAEREES 4 (mg/0) | < 0.002 - < 0.002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — < 0.0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D4 (mg/0) — - - -
FA X HNT (mg/0) - - -
NP (mg/0) — - - -
L (mg/0) - - - =
HRIEER (mg/0) 2.6 — - —
et E R (mg/0) | < 0.05 - -
HERMEE R L O RREERE  (ng/0) 2.6 — - -
>0 (mg/0) - - - —
ESES (mg/0) - - - —
IKEA A BE 8.6 8.9 7.8 7.8
UL B R (mg/0) 1.5 2.0 1.4 0.8
(PR EERE (mg/0) 1.7 1.8 1.4 1.6
Y R (mg/0) 1 2 1 1
BT RE (mg/0) 12.4 11.4 11.0 11.0
KGR (MPN/100m0) 3. 3E+02 — - -
n—~NHU Y E & A & (mg/0) - - - -
BEFR (mg/0) 2.8 - 2.8 —
EUNY (mg/0) 0. 079 - 0.072 -
A (mg/0) 0. 007 — — -
7 x /) =V (mg/0) - - - -
i) (mg/0) - - - -
VAl e gk (mg/0) - - -
BfEE~ o T (mg/0) - - - -
AN (mg/0) - - - -
= (mg/0) - - - —
TUoE=THRER (mg/0) 0.04 - - -
D ABRREY A (mg/0) 0. 065 - - —
ERREE (mS/m) 21 22 22 25
Bt A (mg/0) 6 - 6 -
feA A v A mmiE Al (mg/0) - - - -

EORHE3-15




INER)I (B EHERE) HEH - FE21F2H4H #-3(2)-35
HIEE B 10:30 16:30 22:30 Z14:30
PR = = = =
mi A K (BEKE) (mm) 0.0 — — —
2KIE (m) 0. 560 0. 560 0. 550 0. 560
BRI (m) 0. 100 0.100 0. 098 0.100
il (m/F) 0.40 0.41 0.40 0.39
A (m/Fb) 2.07 2.04 1.98 1.88
SR (C) 8.8 7.4 6.8 5.9
JKIE. (C) 9.9 9.8 9.2 9.2
=N B 5 W R B2 WK B 5 W R Mo
B (%) 74 82 95 100
B3 T+ 5 5 R fIEy
S8l HHa L ML HHa L ML
B RIU LA (mg/0) [ < 0.001 — - —
BTV (mg/0) Ak H - - -
i) (mg/0) | < 0.005 - - -
AN A=A (mg/0) | < 0.02 — - -
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - - -
PCB (mg/0) — — = -
DA =P 4 (mg/0) | < 0.002 - — —
ERIArES (mg/0) | < 0.0002 - - -
1,2->/7ngxH (mg/0) | < 0.0004 - — -
,I->ZugxFL (mg/0) | < 0.002 - — -
VA-L,2-vZunxF Ly (mg/0) | < 0.004 — — -
LLI-FVZuouxH (mg/0) | < 0.0005 — - —
,1,2-hY Zoo=x=X (mg/0) | < 0.0006 - — —
P AEEES A4 (mg/0) | < 0.002 - < 0.002 —
FhS/7puxFL (mg/0) | < 0.0005 — < 0.0005 -
,3>/7nu7a~y (mg/0) | < 0.0002 — — —
FU7h (mg/0) | < 0.0006 - ~ —
D% (mg/0) [ < 0.0003 — - —
FARH LT (mg/0) | < 0.002 — —
NP (mg/0) | < 0.001 — - —
L (mg/0) | < 0.002 - — —
HRIEER (mg/0) 2.2 — - —
et E R (mg/0) | < 0.05 - -
TERTE R K M BAE R (mg/0) 2.2 — = -
503K (mg/0) | < 0.08 - = —
ESES (mg/0) | < 0.02 - - -
IKEA A BE 7.8 7. 7.8 7.8
Eb AR E R (mg/0) 1.5 1.1 0.8 0.9
(LS BR 3E TRk i (mg/0) 2.0 1. 2.0 1.6
Y R (mg/0) 8 5 5 3
BT RE (mg/0) 11.7 11. 1 11.5 11.0
KGR (MPN/100m0) 3. 3E+03 — - -
n—~NHU Y E & A & (mg/0) | < 0.5 — < 0.5 -
BEFR (mg/0) 2.8 - 2.5 —
EUNY (mg/0) 0.14 - 0. 090 -
A (mg/0) 0. 007 — - —
7 x ) —)LH (mg/0) | < 0.005 — - —
&l (mg/0) [ < 0.01 — — —
VAl e gk (mg/0) 0.03 - -
e~ o v (mg/0) | < 0.01 - - *
¥ o A (mg/0) - - - -
e (mg/0) | < 0.008 — - —
TR =T RER (mg/0) 0.11 - - —
D ARIED A (mg/0) 0.091 — - —
ERREE (mS/m) 19 19 20 19
Bt A (mg/0) 5 - 5 -
feA A v A mmiE Al (mg/0) | < 0.03 - — -

PR3 -46




INER)I (BB EHERE) HEH - FE21F3H5H #%-3(2)-36
HIEE B 10:40 16:40 22:40 14140
PR 5 fi§ = N
mi A K (BEKE) (mm) 11.5 — — —
2KIE (m) 0. 240 0. 520 0. 520 0. 520
BRI (m) 0. 048 0. 094 0. 092 0. 092
NI (m/F)) 0. 49 0. 30 0.29 0. 30
A (m/Fb) 1.72 1.37 1.31 1.32
SR (C) 10. 5 9.1 8.2 6.2
JKIE. (C) 11.5 13.1 9.4 10. 0
=N 5 WKE Bl 5 WK A B 5 W R GRS
B (%) 38 82 50 > 100
B3 Z D (%) Z Ot (1%) Z DO (1%) Z Ot (1%)
pisc) K ML HHa L ML
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) A - - -
i) (mg/0) | < 0.005 - - -
AN A=A (mg/0) | < 0.02 — - -
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - — — -
,L1-YZuoagxF L (mg/0) — — — —
CA-1,2-VZ/aaxF Ly (ng/0) — — — -
LLI-RVZuouxH (mg/0) [ < 0.0005 — - -
L1,2-h)ZupxX (mg/0) - — — -
PAEREES 4 (mg/0) | < 0.002 - < 0.002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — < 0.0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D4 (mg/0) — - - -
FA X HNT (mg/0) - - -
NP (mg/0) — - - -
L (mg/0) - - - -
HRIEER (mg/0) 2.0 — - —
et E R (mg/0) | < 0.05 - -
HERMEE R L O RREERE  (ng/0) 2.0 — - -
>0 (mg/0) - - - —
ESES (mg/0) - - - —
IKEA A BE 7.9 8.1 7.7 7.8
UL B R (mg/0) 2.6 2.4 2.0 1.4
(PR EERE (mg/0) 3.6 2.4 2.5 1.8
Y R (mg/0) 8 6 7 4
BT RE (mg/0) 12.3 11.0 11.2 11.0
KGR (MPN/100m0) 7. 0E+02 -
n—~NHU Y E & A & (mg/0) - - - -
BEFR (mg/0) 2.6 - 2.4 —
EUNY (mg/0) 0.21 - 0. 095 -
BN ) (mg/0) 0.006 — = -
7 x /) =V (mg/0) - - - -
i) (mg/0) - - - -
VAl e gk (mg/0) - - -
gt~ > (mg/0) - - - -
AN (mg/0) - - - -
= (mg/0) - - - —
TUoE=THRER (mg/0) 0. 07 - - -
D ABRIEY A (mg/0) 0.11 — - -
ERREE (mS/m) 19 19 20 20
Bt A (mg/0) 5 - 5 -
feA A v A mmiE Al (mg/0) - - - -

EORHE3-17




FE )1 GEIK G ERRIFR) HIEH : FR204F4H 16 H #-3(2)-37
HIEE B 12:00 18:00 0:00 216:00
PR = = = =
mi A K (BEKE) (mm) 0.0 — — —
2KIE (m) 0.120 0.120 0.120 0.120
BRI (m) 0. 024 0.024 0. 024 0. 024
NI (m/F)) 0.78 0.75 0. 68 0.67
A (m/Fb) 1.12 0.99 0.90 0. 89
SR (C) 18.5 17.0 15.9 14.8
JKIE. (C) 17.5 17.3 15. 2 15. 2
=N 0% B KBt B 5 W R Mo
B (%) > 30 26 > 30 > 30
B3 w5 e w5 PE
S8l HHa L K HHa L ML
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) A - - —
i) (mg/0) | < 0.005 - - -
AN A=A (mg/0) | < 0.02 — - -
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) — — — —
A-1,2-V7uvoxF Ly (mg/l) - - - -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
L,L1,2-hY Z7opo=x=X (mg/0) — - - —
PAEREES 4 (mg/0) | < 0.002 - < 0.002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — < 0.0005 -
L3-YZunnra~y (mg/0) - - - -
FTU7h (mg/0) - - - -
D4 (mg/0) — - - -
FA X HNT (mg/0) - - -
NP (mg/0) — - - -
L (mg/0) - - - =
HRIEER (mg/0) 2.3 — - —
et E R (mg/0) | < 0.05 - -
HERMEE R L O RREERE  (ng/0) 2.3 — - -
503K (mg/0) | < 0.08 - = —
ESES (mg/0) | < 0.02 - - -
IKEA A BE 8.0 8.0 7.8 7.8
UL B R (mg/0) 0.5 1.4 0.9 1.0
(PR EERE (mg/0) 2.2 4.4 3.2 2.5
Y R (mg/0) 2 14 3 1
BT RE (mg/0) 10. 1 9.3 9.1 8
PNl (MPN/100m0) 3. 3E+03 - - -
n—~NHU Y E & A & (mg/0) - - - -
BEFR (mg/0) 2.7 - 2.5 —
EUNY (mg/0) 0. 053 - 0. 092 -
A (mg/0) 0. 002 — — -
7 x ) —)LH (mg/0) | < 0.005 — — —
&l (mg/0) [ < 0.01 — — —
VAl e gk (mg/0) 0.07 - -
e~ o v (mg/0) 0.01 - - *
AN (mg/0) - - - -
=y v (mg/0) - - — —
TUoE=THRER (mg/0) 0. 05 - - -
D ABRREY A (mg/0) 0. 048 - - —
ERREE (mS/m) 23 24 24 24
Bt A (mg/0) 6 - 6 -
feA A v A mmiE Al (mg/0) | < 0.03 - — -

EORH3-18




FE ) GEIK G ERRIFT) HIEH - FR204E5H 28 H #-3(2)-38
HIEE B 12:55 18:55 0:55 16155
PR = = = N
mi A K (BEKE) (mm) 0.0 — — —
KT (m) 0.200 0. 190 0. 190 R
BRI (m) 0. 040 0.038 0.038 0.100
FiRes (m/F) 1.08 1. 11 1.22 K
A (m’/Th) 2. 46 2. 54 2.79 R
SR (C) 24.9 21.3 19. 1 15. 8
JKIE. (C) 19.8 20. 6 18.7 17.3
=N B 5 W R Bl 5 WK A B 5 W R B
B (%) 61 53 69 10
B3 A e P 5L +5
S8l FilEY B 1 EY & 0 FilEY B Y YK
B R T A (mg/0) | < 0.001 - - -
2TV (mg/0) A H - - —
i) (mg/0) | < 0.005 - - -
A7 & (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
DA =P 4 (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - — — -
,L1-YZuoagxF L (mg/0) — — — —
A-1,2-V7uvoxF Ly (mg/l) - - - -
LLI-RVZuouxH (mg/0) [ < 0.0005 — - -
L,L1,2-hY Z7opo=x=X (mg/0) — - - —
PAEREES 4 (mg/0) | < 0.002 - < 0.002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — < 0.0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D% (mg/0) - - - -
FA X HNT (mg/0) - -
NP (mg/0) — - - -
L (mg/0) - - - =
HRIEER (mg/0) 1.9 — - —
et E R (mg/0) | < 0.05 - -
HERMEE R L O RREERE  (ng/0) 1.9 — - -
>0 (mg/0) - - - —
ESES (mg/0) - - - —
IKEA A BE 8.0 8.0 7.8 7.6
UL B R (mg/0) 1.4 0.9 0.9 1.1
(PR EERE (mg/0) 2.8 3.0 2.5 11.0
TElE g & (mg/0) 7 6 5 1. 1E+02
BT RE (mg/0) 9.5 9.0 8.9 9.1
KGR (MPN/100m0) 2. 8E+04 — -
n—~NHU Y E & A & (mg/0) - - - -
BEFR (mg/0) 2.2 - 2.4 —
EUNY (mg/0) 0.076 - 0. 074 -
A (mg/0) 0. 006 — — -
7 x /) =V (mg/0) - - - -
i) (mg/0) - - - -
VAl e gk (mg/0) - - -
BfEE~ o T (mg/0) - - - -
w7 a (mg/0) - — — -
=y (mg/0) - - - -
TR =T RER (mg/0) 0. 08 - - -
D ARIED A (mg/0) 0. 040 — — -
ERREE (mS/m) 19 19 25 13
Bt A (mg/0) 5 - 19 —
feA A v A mmiE Al (mg/0) - - - -

EORH3-19




FE ) GEIK G ERRIFT) HEH - FR204F6 H 11 H #-3(2)-39
HIEE B 13:30 19:30 1:30 $17:30
PR = = = N
mi A K (BEKE) (mm) 0.0 — — —
KT (m) 0.210 0.210 0.210 R
BRI (m) 0. 042 0. 042 0. 042 0.100
JiRCs (m/F)) 0.97 0.89 0.388 R
A (m’/Th) 2.32 2. 14 2. 10 R
SR (C) 25.7 20. 4 18.5 18.0
JKIE. (C) 20. 0 19.8 19.7 18.6
=N B 5 W R Bl 5 WK A B 5 W R PERD
B (J) > 100 > 100 > 100 78
B3 w5 5 w5 PE
pisc) HEa L ML HHa L EY & Y
B R T A (mg/0) | < 0.001 - - -
2TV (mg/0) A H - - —
i) (mg/0) | < 0.005 - - -
Nz o A (mg/0) | < 0.02 - — -
L% (mg/0) | < 0.005 — - -
KK ER (mg/0) | < 0.0005 - - -
PCB (mg/0) — — - —
vraua AR (mg/0) - - — -
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) - — - -
A-1,2-V7uvoxF Ly (mg/l) - - - -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
,1,2- U Zoox kX (mg/0) - - - -
r)ZooxzF L (mg/0) | < 0.002 - < 0.002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — < 0.0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D4 (mg/0) — - - -
FA X HNT (mg/0) - -
NP (mg/0) — - - -
L (mg/0) - - - =
HRIEER (mg/0) 1.6 — - -
et E R (mg/0) | < 0.05 - -
TERTE R K M BAE R (mg/0) 1.6 — - —
503K (mg/0) | < 0.08 - = —
ESES (mg/0) | < 0.02 - - -
IKEA A BE 8.2 8.0 7.7 7.7
UL B R (mg/0) 1.1 1.9 1.4 1.3
(PR EERE (mg/0) 2.4 2.7 2.6 4.8
Y R (mg/0) 3 4 4 11
BT RE (mg/0) 9.8 8.7 .5 8.7
KGR (MPN/100m0) 2. TE+04 — -
MV E 5 = (mg/0) - - - —
BEFR (mg/0) 1.9 - 2.6 —
EUNY (mg/0) 0. 080 - 0.15 -
A (mg/0) 0. 002 — — —
7 x ) —)LH (mg/0) | < 0.005 - - -
&l (mg/0) [ < 0.01 — — —
BRI gk (mg/0) 0.08 - —
e~ o v (mg/0) 0.02 - - *
AN (mg/0) - - - -
=y v (mg/0) - - — —
TR =T RESR (mg/0) 0.26 - - -
D ABERED A (mg/0) 0. 052 - - -
ERREE (mS/m) 21 24 28 19
Bt A (mg/0) 6 - 27 —
feA A v A mmiE Al (mg/0) | < 0.03 - — -

HRHR3-50




FE )1 GEIK G ERRIFR) HEH . 20T H2H #-3(2)-40
HIEE B 12:40 18:40 0:40 216140
PR 5 5 B =
mi A K (BEKE) (mm) 0.0 — — —
2KIE (m) 0. 220 0.210 0.210 0.210
BRI (m) 0. 044 0. 042 0. 042 0. 042
NI (m/F)) 1.02 1.08 1.03 1.02
A (m/Fb) 2. 44 2. 46 2. 47 2. 44
SR (C) 24.9 21.6 20. 5 21. 1
JKIE. (C) 23.2 23.5 20. 8 19.8
=N RN ) Mo 0% B Mo
B (J) > 100 > 100 100 100
B3 A Iy R R
pisc) HHa L ML HEa L ML
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) A - - —
i) (mg/0) | < 0.005 - - -
A7 & (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
LI-YZuupxF L (mg/0) — - — —
VA-1L,2-V/ZunxzF Ly (ng/) - - - -
LL1-FyZonxT Xy (mg/0) | < 0.0005 — = -
,1,2- U Zoox kX (mg/0) - - - -
PAEREES 4 (mg/0) | < 0.002 - 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D% (mg/0) - - - -
FFA X IVT (mg/0) - -
NP (mg/0) — - - -
1 (mg/0) - - - -
HRIEER (mg/0) 1.5 — - -
et E R (mg/0) | < 0.05 - -
HERMEE R L O RREERE  (ng/0) 1.5 — - -
>0 (mg/0) - - - —
ESES (mg/0) - - - —
IKEA A BE 8.0 7.9 7.8 7.8
UL B R (mg/0) 0.7 0.8 0.7 0.7
(PR EERE (mg/0) 2.4 2.9 2.5 2.5
Y R (mg/0) 4 3 2 3
BT RE (mg/0) 9.8 8.4 8.4 2
KGR (MPN/100m0) 2. 2E+04 — -
n—~NHU Y E & A & (mg/0) - - - -
BEFR (mg/0) 1.7 - 1.7 —
EUNY (mg/0) 0.061 - 0.05 -
A (mg/0) 0.001 — — -
7 x /) =V (mg/0) - - - -
i) (mg/0) - - - -
VAl e gk (mg/0) - - -
BfEE~ o T (mg/0) - - - -
w7 a (mg/0) - — — -
=y (mg/0) - - - -
TR =T RER (mg/0) | < 0.04 - - —
D ARIED A (mg/0) 0. 042 — — -
ERREE (mS/m) 19 19 19 19
Bt A (mg/0) 4 - 5 -
feA A v A mmiE Al (mg/0) - - - -

EORH3-5 1




FE )1 GEIK G ERRIFR) HEH : FR204E8 H 13 H #-3(2)-41
HIEE B 11:00 17:00 23:00 #15:00
PR 5 = = 5
mi A K (BEKE) (mm) 6.0 — — —
2KIE (m) 0.140 0.120 0.130 0.135
BRI (m) 0. 028 0.024 0. 026 0.026
il (m/F) 0.85 0.96 0.88 0.89
A (m/Fb) 1. 42 1.38 1.38 1.39
SR (C) 33.8 30. 3 27. 4 24.0
JKIE. (C) 27.3 27. 4 25. 3 24.3
=N 0% B Mo 0% B Mo
B (J) > 100 > 100 100 > 100
B3 w5 fIEy w5 R
S8l HHa L ML HHa L ML
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) A - - -
i) (mg/0) | < 0.005 - - -
A7 & (mg/0) | < 0.02 - — —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - - -
PCB (mg/0) — — = -
DA =P 4 (mg/0) | < 0.002 - — —
ERIArES (mg/0) | < 0.0002 - - -
1,2->/7ngxH (mg/0) | < 0.0004 - — -
LI-YZuupxF L (mg/0) | < 0.002 - — -
VA-1,2-VZuouxF L (mg/0) | < 0.004 - - -
LLI-FVZuouxH (mg/0) [ < 0.0005 — - —
,1,2-hY Zoo=x=X (mg/0) | < 0.0006 - — —
[PAEREES (mg/0) | < 0.002 - 0. 002 —
FhS/7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3>/7nu7a~y (mg/0) | < 0.0002 — — —
FU7h (mg/0) | < 0.0006 - ~ —
D% (mg/0) [ < 0.0003 — - —
FARH LT (mg/0) | < 0.002 — —
NP (mg/0) | < 0.001 — - —
L (mg/0) | < 0.002 - — —
HRIEER (mg/0) 0.98 — - —
et E R (mg/0) | < 0.05 - -
TERTE R K M BAE R (mg/0) 1.0 — = -
503K (mg/0) | < 0.08 - = —
ESES (mg/0) | < 0.02 - - -
IKEA A BE 8.0 8.0 7.7 7.7
Eb AR E R (mg/0) 1.0 0.7 0.6 0.3
(LS BR 3E TRk i (mg/0) 2.6 2.7 2.5 2.6
Y R (mg/0) 3 3 2 4
BT RE (mg/0) 9.0 8.5 7.4 8
KGR (MPN/100m0) 3. 3E+04 — - -
n—~HYHEWE S A & (mg/0) | < 0.5 — 0.5 -
BEFR (mg/0) 1.3 - 1.5 —
EUNY (mg/0) 0. 049 - 0. 050 -
A (mg/0) [ < 0.001 — - —
7 x ) —)LH (mg/0) | < 0.005 — - —
&l (mg/0) [ < 0.01 — — —
VAl e gk (mg/0) 0.07 - -
e~ o v (mg/0) | < 0.01 - - *
AN (mg/0) - - - -
e (mg/0) | < 0.008 — = -
TUoE=THRER (mg/0) | < 0.04 - - -
D ABRREY A (mg/0) 0. 042 - - -
ERREE (mS/m) 20 20 20 21
Bt A (mg/0) 5 - 5 -
feA A v A mmiE Al (mg/0) | < 0.03 - — -

EPHm3-52




FE )1 GEIK G ERRIFR) HEH - FR204F9H 10H #£-3(2)-42
HIEE B 11:30 17:30 23:30 #15:30
BN i i 5 W%
mi A K (BEKE) (mm) 0.0 — — —
2KIE (m) 0. 230 0.170 0.190 0.190
BRI (m) 0. 042 0.034 0.038 0. 037
NI (m/F)) 0. 95 0.97 1.04 0.91
A (m/Fb) 2.50 1.97 2.36 2.07
SR (C) 28.9 25. 4 19.7 18. 8
JKIE. (C) 22.9 23. 4 21.2 20.0
=N 0% B Mo 0% B Mo
B (J) > 100 > 100 100 > 100
B3 w5 fIEy w5 R
pisc) HHa L ML HHa L ML
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) A - - —
i) (mg/0) | < 0.005 - - -
A7 & (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - — — -
,L1-YZuoagxF L (mg/0) — — — —
CA-1,2-VZ/aaxF Ly (ng/0) — — — -
LLI-RVZuouxH (mg/0) [ < 0.0005 — - -
L,L1,2-hY Z7opo=x=X (mg/0) — - - —
PAEREES 4 (mg/0) | < 0.002 - 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3-YZraara~ (mg/0) — - — -
F T N (mg/0) - - - —
D% (mg/0) - - - -
FFA X IVT (mg/0) - -
NP (mg/0) — - - -
L (mg/0) - - - =
HRIEER (mg/0) 1.7 — - -
et E R (mg/0) | < 0.05 - -
HERMEE R L O RREERE  (ng/0) 1.7 — - -
>0 (mg/0) - - - —
ERES (mg/0) - - - -
IKEA A BE 8.0 8.0 7.8 7.8
UL B R (mg/0) 0.6 0.7 0.5 0.4
(PR EERE (mg/0) 2.0 2.1 2.2 2.0
Y R (mg/0) 2 3 2 P
BT RE (mg/0) 9.3 8.9 7.9 4
KGR (MPN/100m0) 1. 3E+04 — -
n—~NHU Y E & A & (mg/0) - - - -
BEFR (mg/0) 1.9 - 1.9 —
EUNY (mg/0) 0. 044 - 0. 065 -
A (mg/0) 0. 002 — — -
7 x /) =V (mg/0) - - - -
i) (mg/0) - - - -
VAl e gk (mg/0) - - -
BfEE~ o T (mg/0) - - - -
w7 a (mg/0) - — — -
=y (mg/0) - - - -
TR =T RER (mg/0) | < 0.04 - - —
D ARIED A (mg/0) 0. 040 — — -
ERREE (mS/m) 21 20 21 21
Bt A (mg/0) 5 - 6 -
feA A v A mmiE Al (mg/0) - - - -

EORH3-5




FE )1 GEIK G ERRIFR) HEH - FR204FE10H 22 H #£-3(2)-43
HIEE B 11:30 17:30 23:30 #15:30
PR = = = =
mi A K (BEKE) (mm) 0.0 — — —
2KIE (m) 0. 150 0. 140 0. 140 0. 140
BRI (m) 0. 030 0.028 0. 028 0.028
NI (m/F)) 0.67 0. 56 0.57 0.63
A (m/Fb) 1.13 0.94 0.96 1.05
SR (C) 25. 6 21.5 18.7 17.6
JKIE. (C) 28.5 20. 2 18.0 17.2
=N 0% B Mo 0% B Mo
B (J) > 100 100 100 > 100
B3 w5 fIEy w5 R
S8l HHa L ML HHa L ML
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) A - - —
i) (mg/0) | < 0.005 - - -
A7 & (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) — — — —
CA-1,2-VZ/aaxF Ly (ng/0) — — — -
LLI-RVZuouxH (mg/0) [ < 0.0005 — - -
L,L1,2-hY Z7opo=x=X (mg/0) — - - —
PAEREES 4 (mg/0) | < 0.002 - 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
L3-YZunnra~y (mg/0) - - - -
FTU7h (mg/0) - - - -
D% (mg/0) - - - -
FARH LT (mg/0) - - -
NP (mg/0) — - - -
L (mg/0) - - - =
HRIEER (mg/0) 2.5 — - —
et E R (mg/0) | < 0.05 - -
HERMEE R L O RREERE  (ng/0) 2.5 — - -
503K (mg/0) | < 0.08 - = —
ESES (mg/0) | < 0.02 - - -
IKEA A BE 8.1 8.1 7.8 7.8
UL B R (mg/0) 1.1 1.2 1.5 1.7
(LS BR 3E TRk i (mg/0) 2.4 2.5 2.3 3.1
Y R (mg/0) 1 2 2 4
BT RE (mg/0) 10. 2 8.8 3 7
KGR (MPN/100m0) 1. 3E+04 — -
n—~NHU Y E & A & (mg/0) - - - -
RER (mg/0) 2.9 — 4.1 —
EUNY (mg/0) 0.072 - 0.78 -
A (mg/0) 0.017 — — -
7 x ) —)LH (mg/0) | < 0.005 — — —
&l (mg/0) [ < 0.01 — — —
VAl e gk (mg/0) 0.10 - -
e~ o v (mg/0) 0.03 - - *
w7 a (mg/0) - — — -
=y (mg/0) - - - -
TR =T RER (mg/0) 0.15 - - -
D ARIED A (mg/0) 0. 062 — — -
ERREE (mS/m) 26 29 35 36
Bt A (mg/0) 8 — 40 —
feA A v A mmiE Al (mg/0) | < 0.03 - — -

EERHR3-51




FE )1 GEIK G ERRIFR) HIEH - FR204E11LHGH #£-3(2)-44
HIEE B 11:30 17:30 23:30 #15:30
BN i I 5 %
mi A K (BEKE) (mm) 0.0 — — —
2KIE (m) 0.120 0.120 0.120 0.110
BRI (m) 0. 024 0.022 0. 024 0. 022
NI (m/F)) 0.75 0.73 0.74 0.71
A (m/Fb) 1.08 0.97 1.06 0. 94
SR (C) 18. 0 14.5 9.5 6.4
JKIE. (C) 14.2 16.5 14.0 13.5
=N 0% B Mo 0% B Mo
B (J) > 100 > 100 100 > 100
B3 w5 5 R R
pisc) HEa L ML HEa L ML
B R T A (mg/0) | < 0.001 — - -
BTV (mg/0) Ak - - -
i) (mg/0) | < 0.005 - - -
A7 & (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - — — -
,L1-YZuoagxF L (mg/0) — — — —
CA-1,2-VZ/aaxF Ly (ng/0) - — — —
LLI-RVZuouxH (mg/0) [ < 0.0005 — - -
L1,2-h)ZupxX (mg/0) - — — -
PAEREES 4 (mg/0) | < 0.002 - 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3-YZraara~ (mg/0) — - — -
F T N (mg/0) - - - —
D% (mg/0) - - - -
FA X HNT (mg/0) - - -
NP (mg/0) — - - -
L (mg/0) - - - -
HRIEER (mg/0) 2.7 — - —
et E R (mg/0) | < 0.05 - -
HERMEE R L O RREERE  (ng/0) 2.7 — - -
>0 (mg/0) - - - —
ERES (mg/0) - - - -
IKEA A BE 8.1 8.0 7.9 7.8
UL B R (mg/0) 1.3 2.3 1.2 2.0
(PR EERE (mg/0) 2.6 2.5 2.1 2.0
Y R (mg/0) | < 1 2 2 P
BT RE (mg/0) 11.0 9.2 4 10.0
KGR (MPN/100m0) 4. 9E+04 — -
n—~NHU Y E & A & (mg/0) - - - -
BEFR (mg/0) 3.5 - 3.3 —
EUNY (mg/0) 0.14 — 0.12 -
A (mg/0) 0.012 — — -
7 x /) =V (mg/0) - - - -
i) (mg/0) - - - -
VAl e gk (mg/0) - - -
BfEE~ o T (mg/0) - - - -
w7 a (mg/0) - — — -
=y (mg/0) - - - -
TR =T RER (mg/0) 0. 66 - - -
D ABRIEY A (mg/0) 0. 14 — - -
ERREE (mS/m) 31 44 27 36
YAk A A (mg/0) 12 - 8 -
feA A v A mmiE Al (mg/0) - - - -

EORH3-55




FE ) GEIK G ERRIFT) HEH - FR204FE12H 3 H #£-3(2)-45
HIEE B 11:45 17:45 23:45 F15:45
BN i i 5 %
mi A K (BEKE) (mm) 0.5 — — —
2KIE (m) 0. 090 0.110 0. 090 0.105
BRI (m) 0.017 0.022 0.018 0.021
NI (m/F)) 0.67 0. 66 0. 69 0.71
A (m/Fb) 0.72 0. 87 0. 74 0. 85
SR (C) 15. 1 11.5 6.1 4.2
JKIE. (C) 13.5 13.7 12.2 11.0
=N 4,375 B PR ) PR ) 5T,
B (%) > 100 90 82 95
B3 w5 5 w5 R
S8l HEa L ML HHa L ML
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) A H - - —
i) (mg/0) | < 0.005 - - -
A7 & (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) — — — —
CA-1,2-VZ/aaxF Ly (ng/0) — — — -
LLI-RVZuouxH (mg/0) [ < 0.0005 — - -
,1,2- U Zoox kX (mg/0) - - - -
PAEREES 4 (mg/0) | < 0.002 - 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D% (mg/0) - - - -
FA X HNT (mg/0) - - -
NP (mg/0) — - - -
L (mg/0) - - - -
HRIEER (mg/0) 2.6 — - —
et E R (mg/0) | < 0.05 - -
HERMEE R L O RREERE  (ng/0) 2.6 — - -
503K (mg/0) | < 0.08 - = —
ESES (mg/0) 0.02 - - -
IKEA A BE 8.1 8.0 7.9 7.8
UL B R (mg/0) 1.2 2.6 1.0 3.5
(LS BR 3E TRk i (mg/0) 1.8 2.9 2.9 4.4
Y R (mg/0) 1 4 6 4
BT RE (mg/0) 11.2 9.6 7 10. 2
KGR (MPN/100m0) 1. 3E+04 — -
n—~NHU Y E & A & (mg/0) - - - -
BEFR (mg/0) 2.8 - 3.0 —
EUNY (mg/0) 0. 065 - 0.23 -
A (mg/0) 0. 005 — — -
7 x ) —)LH (mg/0) | < 0.005 — — -
&l (mg/0) [ < 0.01 — — —
VAl e gk (mg/0) 0.12 - -
e~ o v (mg/0) 0.02 - - *
AN (mg/0) - - - -
=y (mg/0) - - - -
TR =T RER (mg/0) 0.05 - - -
D ARIED A (mg/0) 0. 062 — — -
ERREE (mS/m) 25 38 30 27
Bt A (mg/0) 7 — 21 —
feA A v A mmiE Al (mg/0) | < 0.03 - — -

ERH3-56




FE )1 GEIK G ERRIFR) HEH - FEIFLHTH #-3(2)-46
HIEE B 11:10 17:10 23:10 F15:10
KA it [ = =
mi A K (BEKE) (mm) 0.0 — — —
2KIE (m) 0. 080 0. 080 0. 080 0. 080
BRI (m) 0.016 0.016 0.016 0.016
NI (m/F)) 0.57 0. 60 0. 60 0.57
A (m/Fb) 0. 48 0. 50 0. 50 0. 48
SR (C) 10. 0 5.4 5.3 4.8
JKIE. (C) 9.1 9.7 9.4 7.9
=N 5 WKRE B2 WK B 5 W R GRS
B (%) 62 > 100 82 38
B3 R 5 R R
S8l HHa L ML HHa L ML
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) AR H - - —
i) (mg/0) | < 0.005 - - -
A7 & (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - — — -
,L1-YZuoagxF L (mg/0) — — — —
CA-1,2-VZ/aaxF Ly (ng/0) — — — -
LLI-RVZuouxH (mg/0) [ < 0.0005 — - -
L,L1,2-hY Z7opo=x=X (mg/0) — - - —
PAEREES 4 (mg/0) | < 0.002 - < 0.002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — < 0.0005 -
,3-YZraara~ (mg/0) — - — -
F T N (mg/0) - - - —
D% (mg/0) - - - -
FFA X IVT (mg/0) - - -
NP (mg/0) — - - -
L (mg/0) - - - =
HRIEER (mg/0) 2.7 — - —
et E R (mg/0) | < 0.05 - -
HERMEE R L O RREERE  (ng/0) 2.7 — - -
>0 (mg/0) - - - —
ERES (mg/0) - - - -
IKEA A BE 8.2 8.6 7.9 7.8
UL B R (mg/0) 2.6 2.4 1.0 2.6
(PR EERE (mg/0) 3.9 2.8 2.7 3.6
Y R (mg/0) 5 3 4 3
BT RE (mg/0) 13.3 12.4 10. 4 10. 3
KGR (MPN/100m0) 7. 0E+03 — - -
n—~NHU Y E & A & (mg/0) - - - -
BEFR (mg/0) 4.0 - 2.9 —
EUNY (mg/0) 0.16 - 0. 070 -
A (mg/0) 0.021 — — -
7 x /) =V (mg/0) - - - -
i) (mg/0) - - - -
VAl e gk (mg/0) - - -
BfEE~ o T (mg/0) - - - -
w7 a (mg/0) - — — -
=y (mg/0) - - - -
TR =T RER (mg/0) 0. 84 - - -
D ABRIEY A (mg/0) 0.10 — - -
ERREE (mS/m) 27 26 43 27
Bt A (mg/0) 9 - 50 —
feA A v A mmiE Al (mg/0) - - - -

EORH3-57




FE ) GEIK G ERRIFT) HEH - FE21F2H4H #£-3(2)-47
HIEE B 11:10 17:10 23:10 F15:10
PR = = = =
mi A K (BEKE) (mm) 0.0 — — —
2KIE (m) 0.130 0.130 0.110 0.100
BRI (m) 0. 026 0. 026 0. 022 0.020
il (m/F) 0.79 0.83 0.80 0. 81
A (m/Fb) 1. 14 1. 19 1.06 0.97
SR (C) 8. 4 9.4 7.0 6.4
JKIE. (C) 9.8 10. 8 10. 6 9.2
=N 4% B Mo PR ) Mo
B (J) > 100 > 100 53 > 100
B3 R 5 w5 R
S8l HEa L ML HHa L ML
B R T A (mg/0) | < 0.001 — - -
% (mg/0) AR - - -
i) (mg/0) | < 0.005 - - -
AN A=A (mg/0) | < 0.02 — - -
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - - -
PCB (mg/0) — — = -
DA =P 4 (mg/0) | < 0.002 - — —
ERIArES (mg/0) | < 0.0002 - - -
1,2->/7ngxH (mg/0) | < 0.0004 - — -
,I->ZugxFL (mg/0) | < 0.002 - — -
VA-L,2-vZunxF Ly (mg/0) | < 0.004 — — -
LLI-FVZuouxH (mg/0) | < 0.0005 — - —
,1,2-hY Zoo=x=X (mg/0) | < 0.0006 - — —
[PAEREES (mg/0) | < 0.002 - 0. 002 —
FhS/7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3>/7nu7a~y (mg/0) | < 0.0002 — — —
FU7h (mg/0) | < 0.0006 - ~ —
D (mg/0) | < 0.0003 — — —
FARH LT (mg/0) | < 0.002 — —
NP (mg/0) | < 0.001 — - —
Tl (mg/0) | < 0.002 - ~ -
HRIEER (mg/0) 2.4 — - —
et E R (mg/0) | < 0.05 - -
HEEEER L AR ERE (ng/0) 2.4 - — -
503K (mg/0) | < 0.08 - = —
ESES (mg/0) 0.02 - - -
IKEA A BE 7.9 7.8 7.8 7.8
Eb AR E R (mg/0) 1.3 1.7 1.5 1.2
(LS BR 3E TRk i (mg/0) 1.9 2.8 3.1 2.5
Y R (mg/0) 2 6 6 P
BT RE (mg/0) 11.4 11.0 10. 6 11.4
KGR (MPN/100m0) 1. TE+04 —
n—~HYHEWE S A & (mg/0) | < 0.5 — 0.5 -
BEFR (mg/0) 2.8 - 3.0 —
EUNY (mg/0) 0. 079 - 0.16 -
A (mg/0) 0. 004 — - —
7 x ) —)LH (mg/0) | < 0.005 — - —
&l (mg/0) [ < 0.01 — — —
VAl e gk (mg/0) 0.10 - -
e~ o v (mg/0) 0.03 - - *
w7 a (mg/0) - - — -
e (mg/0) | < 0.008 — = -
TR =T RER (mg/0) 0.23 - - —
D ARIED A (mg/0) 0. 068 — - —
ERREE (mS/m) 24 35 33 26
Bt A (mg/0) 7 — 30 —
feA A v A mmiE Al (mg/0) | < 0.03 - — -

EPHm3-58




FE ) GEIK G ERRIFT) HEH - FE21F3H5H #-3(2)-48
HIEE B 11:00 17:00 23:00 #15:00
PR 5 fi§ = N
mi A K (BEKE) (mm) 11.5 — — —
2KIE (m) 0.110 0.120 0.110 0.110
BRI (m) 0. 022 0. 024 0. 022 0. 022
NI (m/F)) 0.72 0.70 0.71 0.74
A (m/Fb) 0.95 0.92 0.94 0.98
SR (C) 12. 1 9.9 7.9 6.5
JKIE. (C) 11.7 13.2 11.2 10. 8
=N 5 WKRE Bl 5 WK A B 5 W R GRS
B (%) 54 45 33 59
B3 w5 5 w5 R
pisc) HEa L ML HHa L ML
B RIU LA (mg/0) [ < 0.001 — - -
2TV (mg/0) A H - - -
i) (mg/0) | < 0.005 - - -
AN A=A (mg/0) | < 0.02 — - -
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vrnnaRAH (mg/0) - - - -
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - — — -
,L1-YZuoagxF L (mg/0) — — — —
CA-1,2-VZ/aaxF Ly (ng/0) - — - —
LLI-RVZuouxH (mg/0) [ < 0.0005 — - —
L1,2-h)ZupxX (mg/0) - — — -
PAEREES 4 (mg/0) | < 0.002 - < 0.002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — < 0.0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D% (mg/0) - - - -
FA X HNT (mg/0) - - -
NP (mg/0) — - - -
L (mg/0) - - - -
HRIEER (mg/0) 2.0 — - —
et E R (mg/0) | < 0.05 - -
TERTE R K M BAE R (mg/0) 2.0 — = -
>0 (mg/0) - - - —
ESES (mg/0) - - - -
IKEA A BE 7.9 8.0 7.8 7.8
UL B R (mg/0) 2.6 2.4 1.5 1.7
(PR EERE (mg/0) 3.8 3.0 4,2 3.0
Y R (mg/0) 8 7 17 11
BT RE (mg/0) 11.3 10.5 10. 2 10. 4
KGR (MPN/100m0) 7. 9E+03 — - -
n—~NHU Y E & A & (mg/0) - - - -
BEFR (mg/0) 2.9 - 2.9 —
EUNY (mg/0) 0.14 — 0.10 -
BN ) (mg/0) 0.017 — = -
7 x /) =V (mg/0) - - - -
i) (mg/0) - - - -
VAl e gk (mg/0) - - -
gt~ > (mg/0) - - - -
AN (mg/0) - - - -
= (mg/0) - - - —
TUoE=THRER (mg/0) 0. 69 - - -
D ABRIEY A (mg/0) 0.10 — = -
ERREE (mS/m) 30 23 24 37
YAk A A (mg/0) 27 - 8 -
feA A v A mmiE Al (mg/0) - - - -

EORH3-59






